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Instructions / ¥deil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.

%ﬂaﬁui o,?aeﬂ YUsilvilef Uldel s2cllofl d¥el] A, wouell ditl-YUel il 539 2Vl taula
TR T

(1) GRedRR ditll-YUell [HAd 5] #4199 ditl-yUel Uzsefl 2 salell 2.
(2) gila{u% u%tlum@l ditl-YAell 2% 50l A2 UR Wi €A [HAd ditll-ydst UnAsell syl il o
U1l 52dl.

(3) GReAR Uldla Ulatiui HAG Uy R siHi 9U1dd YslsHis Yool ditll-YUell 2% ol 53l dHIM ditll-
YUstl AuALS2 U URIed = Ulldaeid w12 S (HIRRR UBUA)etl UL SHIS Yool W d e
% Sql.

(4) HIRe UslUA Hi [LER Ut wa [Aseu [Rdldell ditl-Yst wile) AdH] 24192 o1&l

(5) GHeAIR % Uslell (5 UR djtl] 2% 539 B Uil (A5EU 1Y % %¥q10] ei?aq 8 3 %cllof GHed R Uldle{l
GrirdlHi w1Ud sldl %S, GHed IR YUdd %allod wel Griraeledl saliod (@at &2l dl GHed R %
539 ditl-YYUel liHi A9 ol &l.

GRENERIERNEL qmt-ai[uoi Yyis qng‘,.ﬂ[ﬂs % ditll-yUel UAAsHI A 52l ad R usllefl 29g1d 534
&2 dl d ¥{3lell ditll-YUell el Adll &l
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004.
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006.

007.

008.

009.

010.

o8l AIRUL viLd-L WAH Gugaddl a2 a4 WS suL uH v 6 ?
(A) Hsisu--ula (B) uswlRate
(C) adAsUAdA (D) usid[Rrsu

Al adlalldARE Hra 52 BERAAUR sULUH HUNvLAL Sl ?
(A) A¥sdl (B) aul~tudl
(C) usrauzdls (D) ulgast

A2 Wl su A0 2012 WAL YeoH dviag ANREIH s ?
(A) Asda-11 (B) ¥5-€3\d
(C) uys, (D) §HR3PA-1

A2 Ul sul ueda Ao g sy Aom yaseAdl 11 a8 qal ?
(A) H8rgaHH (B) [Rigas
(C) ilgamn (D) [angperiuaH

Ylavaid AR-A-aia-i [ning gu D28 56 004 2unami »ud © ?

(A) Wadl (B) 242l

(C) tigeuedl (D) Beuudl

A2l WS S nuU g3 Y Yardi 018 Al PRAL-HYR Yo Ay od, ?
(A) Al 831 (B) AR si-aifau

(C) g sauda (D) ddzell

URAHL Y[R Aiclanll a32ud sial 541 ?
(A) A% AHHISARAY (B) euu-ie uradl
(C) 3uads A (D) AHEWL URHEA

audlu vl Siglur suL AU UYUL UREIR AAHMS USH el ?
(A) @iz, 1930 (B) s:idl, 1931
(C) -1y, 1932 (D) Y15, 1934

-

QAR A%AHE DA WS stel a0 uRue L 2am-u g2t Ad s -l a32uid 530 2
(A) dualige-11 (B) wAddRe®
(C) dvdls® (D) yaulis®

2l WS s ueda A HSIAlYRH vild w5 S0l Yldvad 29 v ?
(A) URHAAHA- (B) (A a1
(C) -l2auA-11 (D) URHARAHA-1

[PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


001.

002.

003.

004.

005.

006.

007.

00s8.

009.

010.

By which of the following name is the event of Buddha’s first sermon at Sarnath
known ?

(A) Mahagyan prapti (B) Mahaparinirvana
.Dharmachakra pravartana (D) Mahabhinishkramana
What was the chief tax-collector in the Mauryan administration known as ?
@ samanharta (B) Sannidhata

(C) Mahakshapatlika (D) Pradvivaka

Which of the following king got the Sudarshana lake near Girnar repaired?
(A) Chandragupta-Ii @ skandagupta

(C) Samudragupta (D) Kumaragupta-I

Which of the following Pallava kings fought with the Chalukya king Pulakeshin Il ?
@ Mahendra Verman | (B) Simhavarman

(C) Nandivarman (D) Vishnugopavarman

Which of the following queens is credited with the construction of the famous stepwell
Rani-ki-vav ?

(A) Madhavi (B) Appadevi

(C) Bakuladevi @ vudayamati

The third Anglo-Mysore War was fought with Tipu Sultan during the time of which of the
following ?

(A) Warren Hastings .Charles Cornwallis

(C) Robert Clive (D) Wellesley

Who started the Suddhi movement in India ?

(A) Raja Ram Mohan Roy @ Dayananda Saraswati

(C) Keshav Chandra Sen (D) Ramakrishna Paramahansa

For which session of the Indian National Congress was Sardar Vallabhbhai Patel
President ?

(A) Lahore, 1930 @ «Karachi, 1931
(C) Nagpur, 1932 (D) Bombay, 1934

Who among the following introduced the constitutional rule in Bhavnagar state by
establishing a council of state ?

(A) Bhavsinhji-ll (B) Jaswantsinhji

@ Takhtasinhji (D) Dhunasinhji

Which of the following Pallava king built the famous rock-cut Rathas at Mahabalipuram ?
(A) Parmesvara Varman-| @ Narasimha Varman-|

(C) Nandi Varman-ll (D) Parmesvara Varman-lI

[PSP] n
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011.

012.

013.

014.

015.

016.

017.

018.

0109.

D21 U 518l HiRell Aumi 2dlsin Auuasiz ag sul ?
(A) 5D AAD (B) U AAD
(C) @l Aa® (D) W A4-11

[y, gl DA WS s a0 ustdlzil vl sieauni >udl ¢ ?

i alad ii. siruadl iii. swL iv. sreleion
(A) $5d i a1 i (B) $5d. i 24 i
(C) $5d i wA iv (D) i, i, iii 241 iv

AR 192341 “2ARNY VUHH AU UYW a5 51 Ay sd 2L gl ?
(A) il (B) acamaus udd
(C) AU AIRAMLES (D) ylenet 18

A2 U sul s1sH AL 69 ?

(A) nau Ui ulRue — gidl 51 — il Sl 512 — sl Y5iE-l 82U
(B) nan lnH ulRng — siHl ysieidl ndud — eidl 1 = il $dl 52
(C) £idl 51 — nan olnH ulRug — il Sl 512 — sl Ysie-l mdud
(D) uan oUNHD uRug — eidl 52 — sl Ysieidl Andud — il Sl s

Al MAH 20 A1 WAL e viid 49 &dl.

(A) Q%512 (B)

(C) yruL (D) A4YR

w[Ba 1934ui Al WS s19l 21200000, uldan Az “oraild Ada’ A 22u- 53 8dl ?
(A) 2QALGA AIRAMLES (B) Au1ti HSdl

(C) Ygal ARIUES (D) U+ [ae-Al

QA WS sl st A usdl il el ?

(A) Al -ANRL s (B) 1513 b1l

(C) A2 ANAS (D) uR3Lel AcuAL

59 olits g sug wer- Aug-l aadl a8 ?
(A) uaH (B) vll® (C) Al (D) gl

Uil £29% A4IRAL HIS AU AL HY LA s W2 AP tllond A WS suL orcan w8 dald s
A sul ?

i. [Qe9(q ii. cusles iii. *oL iv. €01
(A) 5. i 21 i (B) 55 iii 21 i
(C) 85 i, ii 2 iii (D) i, ii, iii &1 iv
[PSP] [Contd.
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011. Who among the following introduced the telephone communication in Morbi state ?

(A) Kanyaji Ravaji (B) Jayaji Ravaji
@ Lakhdirji Ravaji (D) Waghiji Ravaji-lI
012. At which of the following sites of Indus Valley Civilization “five alters” have been
identified ?
i. Lothal ii. Banawali iii. Harappa iv. Kalibangan
(A) Only i and ii (B) Only i and iii .Only iand iv (D) i, ii, iii and iv
013. Who was appointed as the president of “Swaraj Ashram Sangh” in September 1923 ?
(A) Gandhiji @ Vallabhbhai Patel
(C) Ansuyaben Sarabhai (D) Chunilal Mehta

014. Which of the following sequences is chronologically correct ?

(A) First round table conference — Dandi March — Gandhi-Irwin Pact — Announcement of
communal award

(B) First round table conference — Announcement of communal award — Dandi March —
Gandhi-Irwin Pact

@ Dandhi March - First round table conference — Gandhi-Irwin Pact — Announcement of
communal award

(D) First round table conference — Dandi March — Announcement of communal award —
Gandhi-Irwin Pact

015. Arya Samaj was first formed at

@ Rrajkot (B) Bombay (C) Poona (D) Jodhpur
016. Who among the following founded ‘Jyoti Sangh’, a premier woman organization in April
1934?
(A) Ansuyaben Sarabhai (B) Champaben Mehta
@ Mrudula Sarabhai (D) Perina Mistry
017. Which of the following was the first event to take place ?
(A) Chauri — Chaura episode @ Kankori episode
(C) Rowlatt Satyagrah (D) Bardoli Satyagrah

018. After which Buddhist council did the rise of Mahayana sect take place ?
(A) First (B) Second (C) Third @rourth

019. With which of the following dynasties did Chandragupta Il enter into matrimonial alliance to
enhace his status and strengthen his position ?

i. Lichchhavis ii. Vakatakas iii. Nagas iv. Kadambas
(A) Only i and iii (B) Only ii and iii
@only i, i and iii (D) i, ii, iii and iv

[PSP] B
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020. 34EHU .4, 150 -1 et Rendvil .......... Hi e,
(A) Wsd (B) wl& (C) e (D) ¥4
021. 191843 ¥dd .......... HoR e [RU[Ad ARAUE 2 A H AL UAH HAYR UE Sl
(A) Hg11 (B) 1§ (C) sastu (D) Mg
022, AULHS AHF -l UL HSIRZHUL 1873Mi ... gL 28 sdl.
(A) bll. 212, 2161352 (B) wuildeu s
(C) tuadidny dlas (D) A1AS
023. waeud-l A[@ 17824i .......... 21 vigiog 423 Y.
(A) dlw (B) dRv (C) HR16L (D) [Rmn

024. [y vl Azgla-u QA A4 s 202w gad auurl wofl 2udl © ?

i, Wid-o-32l i, W iii. sielleion iv. st-iaell
(A) 5 i 21 i (B) $%d i v iv
(C) 85 i A i (D) $5d ii 24 iii

025. GrialasR Wl asidui sa w2 d-iL cud 2l [A3e uee 531 ?

(A) YR (B) sil2xn (C) wy2pd (D) A
026. WA S1NHL UALE ............ Sell.

(A) QIR 21 auldiosaL ast (B) u=s13) vidl-u d048

(C) smun-u xA[8s13 (D) %A HA1AS
027. Ol 510 gRU “rAalldsn” ......... Al Ylavaid A dl.

(A) wailay Qe (B) ada

(C) Auy (D) fug [Asun
028. Alew HEAMi vl eq ......... Slu 8,

(A) R (B) [awy,

(C) g™ (D) &isll

-

029. 19494i A1 WA 519 uireig vid Hsic Aidl Al B2 Ggaue- 53 ?
(A) BAIIRY 2612 (B) S+gena wlis
(C) UREIR U4 (D) HIRIRY 2AIS

030. 6un @ A $2Ud [QuarueuHl (14 sl w2 1A WA 519 1885411 Hoad vid ‘Al Ae-xl

TR TREE] ¢
(A) 6i8RUD ., HALUI] (B) UR. D R34
(C) [Q1a - 2481 (D) 0ll. 5. ous:

n [PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


020.

021.

022.

023.

024.

025.

026.

027.

028.

029.

030.

The Junagadh Rock inscriptions of Rudradaman of AD 150 are in .
(A) Prakrit (B) Pali (C) Tamil @ sanskrit

The first trade union with regular membership and subscription was the union
started in 1918.

@ Madras (B) Bombay (C) Calcutta (D) Madurai

The Satyashodhak Samaj was founded in 1873 by in Maharashtra.

(A) B. R. Ambedkar @.yotiba Phule

(C) Bal Gangadhar Tilak (D) Savarkar

The treaty of Salbai was signed in 1782 between and the British.

(A) Sikhs (B) Gurkhas .Marathas (D) Nizam

At which of the following sites of Indus Valley Civilization have been the granaries excavated ?

i. Mohenjo-daro ii. Harappa iii. Kalibangan iv. Banawali

(A) Only i and iii (B) Only ii and iv .Only i and ii (D) Only ii and iii
Which minister helped Ashoka to fight against his brothers in the war of succession ?
(A) Pushyagupta (B) Kautilya

(C) Vasugupta @ Radhagupta

During Mauryan period Panyadhyaksha was
@ Head of trade and commerce

(B) Manager of Government Agriculture

(C) Officer of mint

(D) Manager of Forests

During Gupta period “Navanitakam” was a famous book on

(A) Astrology (B) Mathematics
@ Medicine (D) Metallurgy
The deity in most of the Chola temples is .

@shiva (B) Vishnu

(C) Krishna (D) Brahma

Who among the following inaugurated Mahatma Gandhi Kirtimandir at Porbandar in 1949 ?
(A) Uchharangrai Dhebar (B) Indulal Yagnik
@ sardar Patel (D) Morarji Desai

Who among the following founded “Seva Sadan” in 1885 at Bombay to oppose child marriage
and compulsory widowhood ?

@ sBechramji M. Malabari (B) R. G. Bhandarkar
(C) Shiv Narayan Agnihotri (D) B. K. Jayakar

[PSP]
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031 DA UL 56 silasil e gL 51519 211 s19dR1g, 2uAA s 20 8 ?
(A) 218 Ut
(B) [Egaeint Auoclls viniflzA
(C) [Egain Alnclzz Auodls Huiflxan
(D) 2gellaq ulald

032. A VA 58 A2t 0=l €9 ?

i. sidlert — malasierf®an ii. [Qauvu et — Yol A
iii. Y45 — vada iv. sties — DldaR
(A) $5d i, ii A1 iv (B) $5d i v iv (C) $5c ii 21 iii (D) i, i, iii 241 iv

033. Awsiz ApUU A% vl g A U8 suuon sena uglnil g 4ami 2udl ¢dl ?

i, drin fiian aeaianll uon wlalE acu-d am- s,

ii. 5[ els-l 2uu-n 530,

iii. s18lu1a18 SUS%A Setdld 530 dg UM 2SS S1 A 2,

iv. A 1S ala-iay a3 sy,

(A) $5d i 211 i (B) $5d ii 21 iv (C) 85d i, ii »A iv (D) i, ii, iii @A iv
034. yeunRig ol (gl A1 WAl sa [Qau-l i & ?

i Al A5 93 AL R, ELA Sl

ii. AL 193941 S13A Uy {2l Al uldAE uziel DaiBan saeu dl.

iii. d2lg 2o “adl [Bedl” ¢,

iv. AArgru 21002 d2lA “B2 S dZlS AL Sdl.

(A) i, ii, iii 241 iv (B) 5 ii A i (C) 85 i, ii A4 i (D) $5d i, iii w1 iv
035. AeiRHAl eidl Yl eidl 52 Sean [Ban w2 ad ?

(A) 20 (B) 22 (C) 24 (D) 30

036. “latunt ucuHL Gissl viaa Asli- a3U sasalL Q- [Bdid 28 54 #3304 8d uig
34l A2l UE 5l 330 8dl.” — 2 510 58] 8 ?
(A) 6552 buul (B) Baidlana Hazaa
(C) 3L 6ll. uR. Aitiss2 (D) 2idlen

037. adA MIRAHL W12 u2aq A1 WA su HAAEUl M sl St ?

i s i, A1 A Yri:aua
i, WSl 1 n2uRw iv. M

(A) 5. i 21 i (B) 85 i, ii A i
(C) i, ii, iii ¥ iv (D) $5d i 21 i

n [PSP] [Contd.
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031.

032.

033.

034.

035.

036.

037.

The Kakori train conspiracy was organised by which of the following revolutionary
organizations ?

(A) Ghadar Party

.Hindustan Republican Association

(C) Hindustan Socialist Republican Association
(D) Anushilan Samiti

Which of the following pairs are correct ?

i. Kalidas — Malavikagnimitram ii. Visakhdutta — Mudrarakshas
iii. Shudrak — Panchtantra iv. Kamandaka — Nitisar
.Only i, ii and iv (B) Only i and iv (C) Only ii and iii (D) i, ii, iii and iv

Which of the following public welfare activities were undertaken by Lakhadhiraj, ruler of
Rajkot state ?

i. Established Praja Pratinidhi Sabha of all elected members

ii. Established Agriculture Bank

iii. Had taken over Kathiawad High School and renamed it as Alfred High School

iv. Had started a library for women

(A) Only i and iii (B) Only ii and iv (C) Only i, ii and iv .i, i, iii and iv

Which of the following statements about Subhas Chandra Bose are correct ?

i. His political guru was C. R. Das

ii. He defeated Gandhiji’'s nominee Pattabhisitaramiyya for Congress president in 1939

iii. His slogan was ‘Chalo Delhi’

iv. Rabindranath Tagore regarded him as ‘Desh Nayak’

.i, i, iii and iv (B) Only ii and iii (C) Only i, ii and iii (D) Only i, iii and iv
For how many days Dandi march from Sabarmati to Dandi lasted ?

(A) 20 (B) 22 @24 (D) 30

Who said, “What was needed was not the protection of the so-called interests of the

Depressed classes in terms of seats in legislatures or jobs but the ‘root and branch’
eradication of untouchability” ?

(A) Thakkar Bapa (B) Kishorilal Mashruwala
(C) Dr. B. R. Ambedkar @ Gandhiji

Which of the following ministries were assigned to Sardar Patel in independent India ?

i. Home ii. Relief and Rehabilitation
iii. Information and Broadcasting iv. Agriculture
.Only i and iii (B) Only i, ii and iii (C) i, ii, iii and iv (D) Only i and ii

[PSP] n
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038.

039.

040.

041.
042.
043,
044.
045.
046.

047.

BILAE AHU 31 AL Rld buetd DA WA 54/ sun [Qauq / [t 02 / 0l 49 ?
i, sl W2 uRl Gunan-asiudld [l sami 2uadl sdl.

ii. (30l 2w s url Rz und s2dl edl 20 asd] wan s2dl sdl.

iii. el we dginl e sdl sdl.

iv. 21 2l grRitial Algs il - 530 el

(A) $5d i (B) §5d iv

(C) $5d i ur iv (D) BuRisd U4l 518 -l

spnal sl rieitl, 1793 sustd A WA sun Qe el © ?

i, gl He YA MRaldl ard FHlgRIA gHlAAL HlAS A5 ouRteumi wucL.
i, 1y el sl dd [Rad sami »ud).

iii. LS 5006 A% HidRU dls [Rud sRami 2u.

(A) $5d i 1 i (B) 85 i 24 i (C) $5d i w i (D) i, i &4 iii
“oft [A2Hi 516 UL B dl d AUS B, AHIM AU 21011, AU WU 69, AU Hey 8. — ud s1dl
5817
(A) 2l [adsi-e (B) 2x2[dEl @iy
(C) tua doun: dlas (D) [Brdl-=ig wa
“yapuall il Al wRHAR, A2 ud a1 = su1 slal Wlsazi 9 ?
(A) Hlieusd (B) A2 uddl (C) duaeL (D) Waurie
ogell %+t uiellui 242214 S Y5UHi 20d €9 ?
(A) dusell Aot (B) tualiuie fd (C) seuyt (D) AR5t
AUHELAEL ST5RUL dvad YO A g ed ?
(A) €23U (B) wtdlnyr (C) 1% §dot (D) 2] dvua
£912162 YR+ Yl GUAML AHAIR WIS $UL A0E NA[Ad €9 ?
(A) [BdaiR (B) 9l (C) AuAlRul (D) ga-ii
2ul2anl2AME @oniril [Badini sy et S YNl glaL i €9 ?
(A) sel&y (B) s14all (C) H2dl e (D) utit1efl auan
2uleaflatl §6 GuR uzL Bdl o WU U8R € dg U FRual.
(A) wil2u (B) A3l (@RI (D) 4&Rl
Aladl-l Wudl AgAR dd-l Geulr DA WA uniell as ?
(A) 5640 (B) €x (C) AR (D) ™
[PSP] [Contd.
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038.

039.

040.

041.

042.

043.

044.

045.

046.

047.

Which of the following statements about the position of women in Rig Vedic times is/are not
correct ?

i. Upanayana Yajnopavita was performed for girls also.

ii. Girls received education and observed Brahmacharya like boys.
iii. Women studied the Vedas.

iv. Several women seers composed Vedic hymns.

(A) Only i (B) Only iv

(C) Only i and iv @ None of the above

Which of the following statements about the permanent settlement of Bengal, 1793 are
correct?

i. Zamindars were considered as the owners of the land subject to the payment of land
revenue

ii. Revenue settlement was fixed permanently

iii. State demand was fixed at 50% of rentals

.Onlyi and ii (B) Only i and iii

(C) Only ii and iii (D) i, ii and iii

Who said, “If there is a sin in the world it is weakness; avoid all weakness, weakness is sin,
weakness is death”?

@ swami Vivekananda (B) Aurobindo Ghosh

(C) Bal Gangadhar Tilak (D) Bipin Chandra Pal

“Pakshapakshi tya nahi Parmeshwar, Samdrashtine sarva saman” — are the lines of which
poet ?

(A) Mirabai (B) Narsinh Mehta @ sBhalan (D) Premanand
Which book is kept at prime position in old Jain books ?

(A) Sangrahni Sutra (B) Balgopal Stuti

@ «alpsutra (D) Chaurpanchasika

What was the original name of Ahmedabad’s Kankaria lake ?
(A) Hajiro (B) Alimpur @ Hoje Kutub (D) Gopi Talav

Which word is prevalent of Monday in the Eastern part of Chhotaudaipur ?

(A) Ditwar (B) Gujari @ Rapchoriyo (D) Devno

Which dance is mostly performed by the men in tribals during the wedding days ?

(A) Kudaniyu (B) Haleni (C) Matlinrutya @ Ambali godho
Name the belt-like chain worn around the neck by the tribals.

(A) Chhantiya (B) Sada @coven (D) Ghugharo

According to the belief of Santhals, they have originated from which of the following ?
(A) Pegion @swan (C) Monkey (D) Buffalo
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048. 51910 YR BN AL AAHE ¥R i ARAAHL 56 54 5 vinvua 6 ?
(A) sl2L sa4 (B) BUYR $&H (C) bigl san (D) [Ba2e sau

049. SalAMi 25 vsHidl sldg sid 4l &9 ?

(A) yudlg e (B) A%AF AR (e
(C) 3cnarua Hl2: (D) [A2wR00s 222

050. ““a¥ Wlel 1y, Yot 1, e1al Yo 4. el amerui e13-1 gL (A3t anduld draru-au olla-u
slag -un asual.

(A) %21dRAH €4 (B) @aals 2usfla (C) 6552 suul (D) [Ba-ilZs cula

051. A1 WS iR el Heird 2uydles RAlseus gan ?
(A) A% (B) Y (C) %3 (D) -ousg-t

052. A3l A3l

a. Raun-$s i, 2AdnE g

b. A4l geal ii. dg, Qe

c. wasl iii. Y2 e

d. 1L iv. & el

(A)a-i,b-ii, c-iii, d - iv (B)a-i, b -ii, c-iv, d - iii
(C)a-ii,b-i,c-iii,d - iv (D) a-ii,b-i,c-iv, d- iii

053. A5l A3l

a. ~siieud sl i. ol ul ad s oudl ul ul AL R

b. GHueis: el ii. %4 % Rl JRUd

c. HeisR sl iii. 92l s uivt el A 245 uiv dledl

d. YREAR WOREIR iv. 9Ja1d HIl HILl R

(A)a-i,b-ii, c - iii, d - iv (B)a-i,b-ii,c-iv,d-iii
(C) a-iii, b - iv, ¢ - ii, d - i (D) a - iii, b - iv, ¢ - i, d - i

054. Y[RHl AUEIA HHERAUS AAMIALD AgAdH] §™1 M5 18 14o0d w3 atual. 20 ded
A2l WA 53 / s [Qanq / Qe 02 /a0 9 ?

i. Aolld g1Ru Ane-1 aRw dral dlst Yl usi=0 asa.

ii. Awaia (21 AdNd gaddl ollaru [aldre -ud sinvua @y,

iii. A2l “2Aolla Al dl Auera Al B Herll Y5l gdl.

(A) 85 i 21 i (B) i, ii AR\ iii

(C) $5d iii (D) BuRisd U4l 415 1l
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048. By which kalam in Rajasthan is the water colour drawing on paper of Krishna in costume of
Radha known ?

(A) Kota kalam @ .aipur kalam
(C) Bundi kalam (D) Kishangadh kalam
049. Whose temple has been carved out from one rock at Ellora ?
(A) Temple of Ghumli (B) Rajrajeshwar temple
.Kailasnath temple (D) Lingraj temple
050. “Tame pisho ma, pisho ma, darvo pisho ma...” — Name the poet of this song who brought
awareness in the tribal society against the vice of alcohol.
@/ ugatram Dave (B) Jivansinh Gamit
(C) Thakkar Bapa (D) Krishansinh Gamit

051. Who among the following was the great Ayurvedic doctor of Gujarat ?
(A) Charak (B) Shushrut .Zhandu (D) Nagarjun

052. Match the column.

a. Nishan Danka i. Percussion instrument with skinhead

b. Ravan hattho ii. String instrument

c. Pavri iii. Wind instrument

d. Mann iv. Solid instrument

.a-i,b-ii,c-iii,d-iv (B)a-i, b-ii, c-iv,d -iii
(C)a-ii,b-i,c-iii,d - iv (D) a-ii, b-i, c-iv, d-iii

053. Match the column.

a. Nahnalal Kavi i. Jya jya vase ek gujarati, tya tya vase sada kal Gujarat
b. Umashankar Joshi ii. Jai Jai Garvi Gujarat

c. Narmad Shankar Kavi iii. Gujarat ni ek pankh nili ne ek pankh lili

d. Ardeshar Khabardar iv. Gujarat mori mori re

(A)a-i, b-ii, c-iii, d - iv (B)a-i, b-ii, c-iv,d -iii
.a-iii,b-iv,c-ii,d-i (D) a -iii, b -iv, c-i, d - ii

054. The founder of Pushtimarg sect (Sampradaya), Vallabhacharyaji, increased the importance
of Krishna worship with music in Gujarat. Which of the following statement(s) is/are correct
regarding this reference ?

i. Many elements of the sect could reach through music to the people.

ii. The music of Vaishnav temples started to be known with a special name Haveli music

(Sangeet)
iii. He coined the opinion that “If there is no music, there is no sect (Sampradaya)”
.Only i and ii (B) i, ii and iii
(C) Only iii (D) None of the above
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055.

056.

057.

058.

059.

060.

061.

062.

063.

064.

065.

HetH[d e AU U .......... 8.
(A) Ra-ie (B) 2l dwaq (C) sl (D) Amerdl

A2 YA sio 202604 sl € ?
(A) rigglt (B) Yeeln (C) AREIA (D) [Rzaasin

YU YAl HEIHE G FUIR ULAIRLG UR AUSHEL $U 1R 5L A2 AL 244 247, Al
AR 54 e ?
(A) wulis (B) sadiza (C) il (D) Wl

elBRL (UMl ueaa dari sl 56 AL wal Hvual ?

(A) 8iuan (B) 1P (C) Aygsu (D) slas
“oprldl o3 uvll Al 3 2 elet....” — 2 M- sla un ereual.
(A) Bli21E 52 (B) WHRER (C) st (D) scudl

. . vl [Qenmadt sui 2 © ?
(A) w812 (B) adiexl (C) Y (D) AHEIUE

2i[RRMT Adu U neuadl o AU AsEHMHE LA M5 qRe ad] d s ud walaa el ?
(A) a=(B (B) uslyul (C) dauvil (D) Sus(au

sy g& sulzad [Qxairg scuga uuu e ?
(A) Al (B) v (C) AL (D) ds

Y

ALY HidLL HOUL $UL MR, 89 ?
(A) HauA (B) tuRlcus (C) wa (D) sidL

suL dlsHOUHI Gl HIZL ool M €9 ?

(A) Ha-uY (B) dR8ldR (C) WadRIA (D) AlsL
A1 AL

a. elssISl yaual Hol i xABAea

b. Ha Wl ii. axelAAl 1

¢. 3waril uedi-i dul iii. Ha

d. 34 Hul V. ARALILIRAUL

(A)a-i, b -ii, ¢ - iii, d - iv (B)a-i,b-ii,c-iv, d-iii
(C)a-iv, b-iii, c - ii, d - i (D) a-iv, b -iii, c - i, d - ii
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055.

056.

057.

058.

059.

060.

061.

062.

063.

064.

065.

The name of sect of Mahamati Prannath is
@Nijanand (B) Godiya Vaishnav
(C) Vaarkari (D) Ramdasi

Who among the following is an “astachhap” poet ?

@ Nanddas (B) Sundardas (C) Gurudas (D) Nischaldas

When the Sultan of Gujarat Mohammad Begada attacked Pavagadh, which king’s queen
and other women committed Johar ?

@).aisinh (B) Kampilidev (C) Ratnasinh (D) Maansinh

The foundation of which style was laid during the reign of Pallava dynasty in South India ?
(A) Hoysal (B) Nagara (C) Chaulukya @poravida
Name the poet of the song — “Janani ni jod sakhi nahi jade re lol....”

@ sotadkar (B) Khabardar (C) Kant (D) Kalapi

Where is B. J. Study-Research Vidhya Bhavan (B. J. Adhayan - Sanshodhan Vidhya Bhavan)
situated ?

(A) Rajkot (B) Vadodara (C) Surat @ Anhmedabad

By which name the sect which spread the worship in lingua franca with the influence of
Chaitanya Mahaprabhu in Orissa became prevalent ?

(A) Saraniya (B) Sahajiya @ ranchsakha (D) Ismailiya

Which tree in tribal area is believed as Kalpvriksha — (a wish fulfilling divine tree) ?

(A) Bamboo (B) Khakhar (C) Teak @r:aim

Where does the Telavmata fair take place ?

(A) Mewas .Barawad (C) Paal (D) Dang

The big “gujari” (market) of camel takes place in which folk fair ?

(A) Bhavnath (B) Tarnetar (C) Madhavrai @ Vautha

Match the column:

a. Manekthari Punam fair i. Agnidev

b. Megh fair ii. Vardaryini Mata

c. Rupal ni Palli fair iii. Meghraja

d. Chul fair iv. Ranchhodraiji

(A)a-i, b-ii, c-iii, d - iv (B)a-i, b-ii,c-iv, d -iii
.a-iv,b-iii,c-ii,d-i (D) a-iv, b -iii,c-i,d-ii
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066.

067.

068.

0609.

070.

071.

A1 AL

a. BRAWN i, GuaIR

b. oM ALl U ii. 3we

C. JRd A A iii. AHELUE

d. -iglaun iV. 4RHYR

(A) a - iii, b -iv, c- i, d - ii (B) a-iii,b-iv, c-ii,d-i
(C)a-i,b-ii,c-iv,d-iii (D)a-i, b-ii, c-iii,d - iv

A1 Al

a YR gAY sddl i. Y

b. aildein g gadl i, M3

c. [Brudlern sadl iii. AAHELAE

d. {82 ALl Hran iv. asiexu

(A)a-i, b-ii,c-iii,d - iv (B)a-i, b-ii, c-iv, d - iii
(C)a-iv, b-iii,c-ii,d-i (D) a-iv, b -iii, c - i, d - ii

A2 U 53 / s Qe / [l 02 / i 6 ?

i ASIERUL HSIRIAN HAWAA dUAsAUS L £6UHT AR Aldsizil 2 idlldengi-i [Rud 931
il el

i, 20 932Ul o101 dAngRsA asieAn] Al sauni s
jii. AR 28] 9ol 24 d MUY Geu 2l

(A) i, ii 241 iii (B) 854 ii

(C) 55 iii (D) BuRisd U4l 518 1l
612 gIR51 Yo HIER D5 .......... Sy M Hl2R pudg ¢ ?

(A) eiflau (B) 0141y

(C) 4l yu #leR (D) xeAey

oAl 1A UL suL Y5l (UNESCO) (A2 4R18R a0 2udai ¢ ?

i AR5 ii. aloudl2l

iii. (2R, HidRl iV, AURR-WAURLE YRLdT W
(A) $5d i a1 i (B) $5d. i A i

(C) $5dii 24 iv (D) $5d i w1 iv

uelleid 21 ged Ul e [Quaid agausu doua (A2d-) sui xudg ¢ ?
(A) 3HIS (B) AYdIRL
(C) waryR (D) A¥s12

[PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


066.

067.

068.

069.

070.

o71.

Match the column:

a. Gharshala i. Bhavnagar

b. Goverdhanram Sahitya Sabha ii. Nadiad

c. Gujarat Sahitya Sabha iii. Ahmedabad

d. Nandigram iv. Dharampur

(A) a -iii,b-iv,c-i,d-ii (B) a -iii, b - iv, c - ii, d - i
(C)a-i,b-ii, c-iv, d -iii .a-i,b-ii,c-iii,d-iv
Match the column:

a. Sureshwar Desai Haveli i. Surat

b. Shantidas Desai Haveli ii. Bharuch

c. Bhikharidas Haveli iii. Ahmedabad

d. Meherji Rani Mansion iv. Vadodara .
(A)a-i, b-ii,c-iii,d - iv (B)a-i, b-ii, c-iv, d -iii
.a-iv,b-iii,c-ii,d-i (D) a-iv, b -iii,c-i, d -ii

Which of the following statement(s) is/are correct ?

i. In the court of the Maharaja of Vadodara, Sayajirao Gaekwad, dancers and expert gurus of
musical instruments from Thanjavur were called.

ii. From these Gurus Kubernath Thanjavurkai was made to settle in Vadodara.

iii. Through him the emersion of Bharatanatyam in Gujarat took place.

@ i andiii (B) Only ii

(C) Only iii (D) None of the above

The magnificient Hanuman temple is situated close to the Bet Dwarka’s main
temple.

@Dandiwala (B) Kachoriya

(C) Sri Krishna temple (D) Astasiddhi

Which of the following are UNESCO world heritage sites in Gujarat ?
i. Rani-ki-vav

ii. Dholavira

iii. Sun Temple, Modhera

iv. Champaner, Pavagadh archaeological park

(A) Only i and ii (B) Only ii and iii

(C) Only ii and iv @onlyiandiv

Where is Vadhvana lake (wetland), famous for bird watching and nature lovers situated ?
@ Dabhoi (B) Saputara

(C) Palanpur (D) Rajkot
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072.

073.
074.
075.
076.
077.
078.
079.

080.

081.

A1 %Sl

a. WRARL i. PR

b. AHURUL TRCRIE ]

C. BUIR iii. GuRA3

d. a-u yeu V. AL

(A)a-i,b-ii, c-iii, d - iv (B)a-i, b -ii,c-iv, d - iii
(C)a-iv, b-iii,c-ii,d-i (D) a-iv, b -iii,c-i,d -ii

dopAdHL 2l aes dl-2o 512 AASIAY $uL 20dg, ¢ ?
(A) A% 512 (SEIERE (C) 2us& (D) MHELUE

gl €. 2416, — elBun(d H{lE2 sui2udg & ?
(A) A48 (B) Yd (C) M3 (D) asiel

3,0

st AL 3al, Al (A sui 2udg € ?

(A) UiRbigR (B) Q%512 (C) 2Us& (D) &idl
.......... @t UM a3 onelld €.
(A) sicl (B) A&l (C) @R (D) g1zl

ALAZH ARRI B sUL MO AZUHIA S ?
(A) 8 (B) g™ (C) [avy (D) 35

(gl SLoll gt URABN 21 AH 1 UAL % GHRL AU 9 df UM Ul
(A) =i (B) AR (C) Al (D) AN

[Rala-dl wead o512 sl Brecnni 2uddl © ?
(A) w812 (B) sidt (C) 549 (D) YR%R

AHELALE vl e ARNAL 829 sieid DA WS sul [Asew 00 6 ?
(A) d 18l (gHdlAL 1A el

(B) dg [Aniw RueaRier oruls giu sami 20 e,

(C) d 218 U621 89,

(D) A ALES5] AL AHY ERULA BARAA], GAR .

1441 AU 4R DA UL 53 Srgell AU 5 SelidR HIS HUES A 8 ?
(A) 2011 arcllorRid AR adl (BERICEL]
(C) -eusla [Q1zd (D) -eusla axdl
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073.

074.

075.

076.

077.

078.

079.

080.

081.

Match the column:

a. Parnera i. Girnar

b. Aabhapara ii. Banaskantha

c. Jasore iii. Bhanvad

d. Navnath Dhuna iv. Valsad

(A)a-i, b-ii,c-iii,d - iv (B)a-i, b-ii, c-iv, d -iii
.a-iv,b-iii,c-ii,d-i (D) a-iv, b -iii,c-i,d-ii
Where is the Auto World Vintage Car Museum situated in Gujarat ?

(A) Rajkot (B) Wankaner

(C) Gondal @ Ahmedabad

Where is the EME - Dakshinamurthy temple situated in Gujarat ?

(A) Valsad (B) Surat

(C) Bharuch @ Vadodara

Where is Kaba Gandhi No Delo, Gandhi Smruti situated ?
(A) Porbandar @ rRajkot (C) Gondal (D) Dandi

is known as “bhagat nu gaam”
(A) Danta @sayla (C) Anjar (D) Hajipir

Jantar is considered as a form of which God by the Charans in Saurashtra ?
(A) Brahma (B) Krishna (C) Vishnu @Rudra

Name the “gughara” which are played on the occasion of Holi dance and group dance in
tribals.

(A) Transa (B) Zhalar (C) Chipiyo @)rRamzol

The famous Siyot caves are situated in which district?
(A) Rajkot (B) Dang @ «utch (D) Surendranagar

Which of the following option is correct regarding “Rani no Hajiro” situated at
Ahmedabad ?

(A) It was the palace of queen Bhanumati.
(B) It was constructed by Siddhraj Jaysinh.
@t is a tomb.

(D) It was a jewellery market during the time of Solanki kings.

Which of the following was not the criterion of tax devolution from the Centre to States, as
per the 14th Finance Commission?

(A) Population as per 2011 census (B) Forest Cover

@ rinancial discipline (D) Fiscal capacity
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082.

083.

084.

085.

086.

087.

088.

A2 W) 56 nd2 24 w2z el A =l ?
(A) 2L AU (Grant-in-aid) (B) 2¥la ==y S5 &l (Terminal Annuities)
(C) 4l 42 (Capital Levy) (D) GuRisd U4l 515 -l

[€g al® e 2ied curdly u1eddt g1 uan &9 yaafla dior-uvil g% W 534 3.70% als gl
£2. 2 [€g gl el vg .......... GIRL S,

(A) B. 2. ¢2adl (B) 5. ¥in. %Y
(C) % $¥2 (D) YraHiu Asoidl

a1 Hl e2AR cnoid DA U 54 / s [Qu-t / (a2 /i e ?

(A) BRa (CRISIL) Al 2au-i 84 daarla ies-i g3um 28 ¢dl.

(B) BR1a (CRISIL) 082 &=t 2ai-it Ml (Debt Instruments) « [Rai2eL (rating) 43 6.
(C) (A) ¢4 (B) bid

(D) (A) 211 (B) U4l 418 -l

AU MR Y2AGIH ML JAS 2Ai5 (WPI) tuotd 21 UL sy / s Q- / Qa0 /i 8 ?
i, AUA GURA WPI W12 W adl 2004-05 ) bigdlA 2011-12 $cHi 20 6.

ii. gauRdl sl WP 6l yuu ol eird 289 — walis Aoazgii 214 Gewled si-iagl.

iii. WP L ) sigllatini A5 w2 Gualomi darmi 2uddl [3Hdl uia s34 a2\ -9l
(A) $5d i (B) $5d i 2 i

(C) 55 i - i (D) i, ii - i

DA UL 54 / s (st / [l ) /i ¢ ?

(A) wisll €35 Al (Season) M2 3w U512 AHAS 29U U ((R3AR) BHa 155 53 9.
(B) 2uagus dloyad ARRAH 860 i 2 A8 2uazus Moadil 8.

(C) (A) 211 (B) bid

(D) (A) 241 (B) U4l 516 1l

@Rl 3dlul 2iyglugl .......... 3uiadla .
i g vl ysaslin Adadt (balance of payments) -l
ii. 4 vl ygallati-u Agaq (balance of payments) »t<d

iii. Al

(A) $5di (B) 5 i wA i

(C) $5d i w i (D) i, ii 2 iii

MIRA AR ALl vt ... L AZUHL UL 155 Y 6.

(A) BR0129 QU (B) 82212 t1Ud

(C) BR012y A5 (D) aRul 2U[Bd ueul
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082. Which of the following is not a method for reducing public Debt?
@ Grant-in-aid (B) Terminal annuities
(C) Capital Levy (D) None of the above

083. The term Hindu rate Growth refers to the 3.70% per annum growth rate achieved by the
Indian economy over the first six Five Year Plans. The term was coined by

(A) J. N. Bhagawati (B) K. N. Raj
@ rRaij Krishna (D) Sukhmoy Chakraborthy

084. Which of the following statement(s) is/are correct regarding Indian Capital market?
(A) CRISIL was set up during 8th Five Year Plan.
@) CRISIL rates the debt instruments of the public sector.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

085. Which of the following statement(s) is/are correct regarding All India Wholesale Price
Index (WPI)?

1. The base year for All India WPI has been revised from 2004-05 to 2011-12

2. In the revised series WPI will constitute two major groups namely primary articles and
manufactured products

3. In the new series of WPI prices used for compilation do not include indirect taxes
(A) 1 only @1:2and3only
(C) 2 and 3 only (D)1,2and 3

086. Which of the following statement(s) is/are correct?

.The Union Government fixes the statutory minimum price of sugarcane for each sugar
season

(B) Sugar and sugarcane are essential commodities under the Essential Commodities Act
(C) Both (A) and (B)
(D) Neither (A) nor (B)

087. The Indian Rupee is fully convertible

1. In respect of current account of the balance of payments

2. In respect of capital account of the balance of payments

3. Into gold
.1 only (B) 1and 2 only
(C) 2 and 3 only (D)1,2and 3
088. The Government of India has decided to measure poverty line in terms of
.Household consumption (B) Household savings
(C) Household investment (D) Dependent members in a household
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089.

090.

091.

092.

093.

094.

AAA UAH 215 ARYZAL §12 e 12 AdlH2dl dad (NPEGEL) eueid -l W4 s (sl
1Al 8 ?

i. d Y& (Micro) 22 YeIvil LN 4 8.

ii. dd 2tudlse Aalds Ad usid salsaHl w 9.

iii. o 2uoniHi s=ua-l r33udl kuqHi 4 6.

(A) i, ii 24 iii (B) 55 ii A i (C) 5 i 2n i (D) $5d i 21 i
93l eitotd, DA WA 5 / sau [t / [Qau-l 02 /i e ?

(A) 201341 L2AdHL Al Lol (el sirlani suel.

(B) NITI 20431 Hiedl 4 g1 Alell uesid (el als [Rad sat .

(C) (A) 21 (B) i

(D) (A) 21 (B) U4l 518 el

Ui (s yasis cuotd A W sun (Al i ¢ ?

i. 20170 Hira (A5 YAsisU ASAA AFAIR 36 AL 22l $H 2141 €.

ii. Wra [QAs1 Yasisul oot uau s 6.

iii. 1995 il ARvunellui 201740 Hirta (A5 YAsisHI HA AR SlA UL gRAd ARZLU U2 5
A2 69,

(A) i, ii 21 iii (B) $5d iii 21 i (C) 85 i 21 i (D) $5d i 21 i

yaaly dler-uil suetd -0 04 5y / sun Qs / (e g /i o ?

(A) 12+ vaafly alou 24 334, 2516 24 ag AHAe gl Bur cuR Hsl.

(B) 9l viaarlu uiot (iaHi (s 24mad gl ygamid Aqu3 8.

(C) (A) ¢4 (B) i

(D) (A) 21 (B) U4l 818 el

A1 Q4L san (el i 8 ?

i. (URAHE UL 32 (Repo Rate) ad Ul 32 (Reverse Repo Rate) $2i 241491 6.

ii. M1dHi 6ls 22 (Bank Rate) 2ul 22 (Repo Rate) $di a4 ¢9.

jii. GURAHI A5 AUHA JRUTR (Cash Reserve Ratio) Ul 22 52l 2L 8.

(A) i, ii 24 iii (B) $5d i A i (C) s i A i (D) $5d ii 21 i
Rl oi-5lo1 cuqe-L Ae AL UL su1 &l »1AdL &=L (B (Priority Sector Lending) 64
24 8 ?

i. Y Glot (Renewable Energy)

ii. 2uaA (Housing)

i, Y&, ULl 2l HEAH S&IAL A8AL (Micro, small and medium enterprises)

iv. DS AidR WY (social infrastructure)

(A) $5d i, ii 24 i (B) $5di, i w1 iv (C) $%d.i, iii 2 iv (D) i, ii, iii @A iv
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089.

090.

091.

092.

093.

094.

Which of the following statements are correct regarding National Programme for Education
of Girls at Elementary Level (NPEGEL)?

1. It addresses issues at micro level

2. It is implemented in educationally backward blocks

3. It addresses the needs of girls in schools

.1, 2and 3 (B) 2 and 3 only (C)1and 2 only (D) 1and 3 only

Which of the following statement(s) is/are correct regarding Gujarat?

(A) Seven new districts were created in Gujarat in 2013.

(B) NITI Aayog has identified Morbi and Narmada as most backward districts.
@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Human Development Index?
1. As per Human Development Index report of 2017 Gujarat ranks 21st out of 36 states
2. Punjab ranks 1st in Human Development Index

3. Though there is an improvement in HDI in 2017 as compared to 1995 the HDI of Gujarat
is below the national average

(A)1,2and 3 (B) 2 and 3 only (C) 1and 2 only @1 and 3 only

Which of the following statement(s) is/are correct regarding Five Year Plans?

(A) Twelfth Five Year Plan emphasized on faster, sustainable, and more inclusive growth
(B) Ninth Five Year Plan had followed Export-led growth strategy in India

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct?

1. Repo rate is less than Reverse Repo Rate in India

2. Bank Rate is more than Repo Rate in India

3. Cash Reserve Ratio is less than Repo Rate in India

(A)1,2and 3 (B) 1and 3 only (C)1and 2 only .2 and 3 only

Which of the following sectors fall under Priority Sector Lending with reference to Indian
Banking System?

1. Renewable Energy

2. Housing

3. Micro, Small and Medium Enterprises

4. Social infrastructure

(A) 1, 2 and 3 only (B) 1, 2 and 4 only (C)1, 3 and 4 only .1, 2,3and 4
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095.

096.

097.

098.

099.

100.

oA 518 e Asavl Adan (Balance of Payments) 851214 (Positive) Sid dl -t WSl 53 1l au?
(A) Ai-u-l 2ud

(B) [Gear [AlAma (S3uME) Adziini atul

(C) 2t~ 2ol wiAdl 25t 2uvu-l 24 @ion auoudl aiqi ([Bue) dnadl

(D) 2t~ galid 4l i ([Bue)

S=flun wize Y2 ois ouotd QA1 W4l s [Qan-l viei © ?

i. d 100% A1) S(5aél A1a-)l uize vidl Ssu-l e &st susdl 9,

ii. d gL wadie Wrse adls a3 saul 2udl dl.

iii. d Sl uike Us-2 615 AR HaALAA S801-L UIR2 vl 8601 S 53 €9,

iv. d @it 21 582 518 2udl us ©.

(A) $5d i, ii 244 i (B) $5d iv (C) $5c ii 24 iii (D) i, i, iii 241 iv

ol [Aen gl o snoid Dl Wl 5y / san [t / [l ) /i o ?

(A) 21 Q1oL Ac UHIIA 20a] A 8 5 o ] AL €2 35% Scll AL S

(B) 41R21-1 i N2 Adl s=u2iiA 31 2000 i HeL (AR ol Y1 wisaiHi 2ud 8 24 ©ie-8 yel sul
U AR QU WA Y5aRll saumi wud .

(C) (A) 241 (B) bin

(D) (A) 211 (B) U4l 418 -l

9%l 2019-20 -l HigluAl “ra A wa Wy ouoid A WSl 53 / san (A / Qe 3 /

i e ?

(A) dH 821 40 gl dlag well y3 wigar 12 31 20,000 $2U8 AR AR Al R4 W2l s
a8l

(B) 2019-20 Hi 24 Aol 861 3L 4,500 53 s10a8ll s2UHi >udl 9.

(C) (A) 211 (B) bid

(D) (A) 211 (B) U4l 41 -l

2t WS 53 HHAL 2L (324 el ?
(A) Hudl [2ax (u a2 244 uingl [Ba) (B) HHAL Hellsld (-1 ul-l 5102 82 Halsid)
(C) HHAL UM (35¢ vi Acuil) (D) BuRisd U4l 518 1)

3HA(E s BBlagws suoid N2 WA 54 / s [Qau-t / [l ) /i ¢ ?

(A) 3H1E 5 (BlAs-3A ardlui st sl aunt AlsiAL adl el [R21 51280 285 g[FE-L Axui atil
a3 carvaBid sami »ud 69,

(B) 1L 821 A4AL %l %~H €2 A ARell-ll A HWBIH SIH 5l Yod @ a5 udlend uazidl e i 8.
(C) (A) 21 (B) i
(D) (A) 211 (B) U4l 41 -l
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095.

096.

097.

098.

099.

100.

If the Balance of Payments of any country is positive which of the following will not happen?
(A) Import of Gold

(B) Increase in foreign exchange service

.Receiving of short term and long term loans from other countries

(D) Capital loan to other countries

Which of the following statements about India Post Payments Bank is INCORRECT?

1. It is a public sector company under Department of Post with 100% government equity
2. It was launched as a pilot project in Ranchi

3. IPPB operates under Department of Post under ministry of communications

4. It can issue loans and credit cards

(A) 1, 2 and 3 only @2 only

(C) 2 and 3 only (D)1,2,3and 4

Which of the following statement(s) is/are correct regarding Vidya Laxmi Scheme of Gujarat?
(A) This scheme covered those village in which the literacy rate of female is less than 35%.

(B) The Narmada Nidhi’s bond of INR 2000 is provided to the girls enrolled in the standard
1st and is paid with interest to the girls after the completion of 8th standard.

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statement(s) is/are correct regarding “Nal Se Jal Yojana” of Gujarat
Budget 2019-207?

(A) Rs 20,000 crore will be spent during the next three years for providing drinking water
through tap to all households.

(B) INR 4,500 crore has been allocated under this scheme in 2019-20.
@ sBoth (A) and (B)
(D) Neither (A) nor (B)

Which of the following is not part of Mamta Abhiyan?
(A) Mamta Divas (Village Health and Nutrition Day)
(B) Mamta Mulakat (Postnatal Care Home visit)

(C) Mamta Sandarbh (Referral and Services)

@ None of the above

Which of the following statement(s) is/are correct regarding Demographic Dividend?

.Demographic Dividend is defined as a rise in the area of economic growth due to a rising
share of working age people in a population.

(B) This phenomenon occurs with a rising birth rate and consequent shift in the age structure
of the population towards the adult working ages.

(C) Both (A) and (B)
(D) Neither (A) nor (B)
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101.

102.

103.

104.

105.

106.

daie Arud ud 251U AgAR sla sl / Aoudl-l 2lRs Rl sued N 14 sa (Qa-l
i 6 ?

i. % l5d As seLs WIS 51 5 URL AR SeLS 5l HeY 511 52 dl ARl 21341 [Bau W2 511 Y sl
U,

ii. 1R A5 [Ba g3t AR sats § doll AR 514 53 dl d 2uviL [Ba W2 siid © 2in awuel.

iii. g1l B[As [Rald eiioudl-l €2 si-21s2 € (Contract rate) €.

(A) i, ii 211 iii (B) $5d ii 21 i

(C) 5 i M i (D) $5d. i 21 i

sl Ao Qe Al (Employees’ State Insurance Scheme) €601 1AL U4l 56 il

s WS YRaW A (Social Security Coverage) 42ud € ?

i. Sl2d i 122 i, W2 21rAule 13324101

iii. AMRARUAL HS sHL iv. virofl doflell Aenil

(A) $5d i, i 21 i (B) $5d iii 2 iv

(C) i, ii, iii A1 iv (D) Buisd U4l 518 -l

%AdHi BIG 2020 .......... d (A sisyH-2 (Vision Document) €.

(A) GaildL &= (B) s & (C) Aidny] (D) [agell duir
VUUAL AHU W2 sl AT BuaAsHI ... WHA 89,

i A1 GIRL SAAHL 20 QURAIL VA4, A58 WA,
i, [Q2ani cudlul gL scH 1A AURA 24 AL WA
iii. vl 82 gIRL S2AUMT 2UAE QU A4 A5 WY

(A) 5 i 1 i (B) 55 iii 21 i

(C) $5eLi A iii (D) i, iii 2\ iii

*laui 2ulds Qs Ao arl@e 9l S, e g e ... BuR 2 Sild
53l =l

(A) &8s asini auiRl

(B) ussid aoiimi aleflui aeisi

(C) >ulzanil azdl ®ie 2umlasid Alawils@ 524
(D) BuRisd U4l 518 1)

S50 AV dE HEUHAL 1 $E AR 2L IRITIR A US 8. U JRITRA ... PR
(A) $3 UM dJelTR (Cash Reserve Ratio)

(B) a4ulAs neul8qu dpaiinz (Statutory Liquidity Ratio)

(C) vl 4l vtz (Capital Adequacy Ratio)

(D) $+lu uaulSqu dRiia2 (Central Liquid Ratio)
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101.

102.

103.

104.

105.

106.

Which of the following statements are correct regarding Current Daily Status of
Unemployment/employment as per National Sample Survey Office?

1. A person who works for one hour but less than four hours is considered having worked for
half a day.

2. When a person works for four hours or more during a day, he is considered as employed
for the whole day.

3. The current daily status unemployment rate is contract rate.
(A)1,2and 3 (B) 2 and 3 only
.1 and 2 only (D) 1and 3 only

The employees of which of the following organizations have Social Security coverage under
Employees' State Insurance Scheme?

1. Hotel and Restaurants
2. Motor Transport Undertaking
3. Newspaper establishments

4. Private medical Institutions

(A) 1, 2 and 3 only (B) 3 and 4 only
@1.2.3and4 (D) None of the above
BIG 2020 is the vision document of in Gujarat.

(A) Industry Sector (B) Agriculture Sector
@ nfrastructure (D) Foreign Trade

The national income of a country for a given period includes

1. Consumption and investment expenditure incurred by the government
2. Consumption and investment expenditure incurred by Indians abroad
3. Consumption and investment expenditure incurred by private sector
(A) 1and 2 only (B) 2 and 3 only

(C) 1and 3 only @1.2and3

Inclusive Growth is the agenda of Economic development in the future. The strategy of
inclusive growth does NOT focus on

(A) Enhancement of Education opportunities

(B) Reduction of poverty among backward classes
(C) Diversifying livelihood for tribal population

@ None of the above

The banks are required to maintain a certain ratio between their liquid assets and total
deposits. This ratio is called

(A) Cash Reserve Ratio @ statutory Liquidity Ratio
(C) Capital Adequacy Ratio (D) Central Liquid Ratio

[PSP]
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107.

108.

109.

110.

111.

112.

113.

Heydl vl (Revenue Deficit) ioid -1 W8l 53 / suu [t / [l 2] /i 6 ?
i o $50 2l % AAGIRIAL AHIAA 52 6 5 B AR ALY HUAs A WAL AUR 2.
ii. d U212 gL dl8a A1g G- ua ud 4 ©.

iii. 4 Slusa Qaui-Alodld] vims g2 AgH-2 AlARUH AR UuSR 1YL vy 821dld GDP -u
3% sl 28 .

(A) $5d i (B) i, ii 21 iii (C) 85 i 21 i (D) $5d i A i
2020-21 udai Aod vivs 25 S-flag Bauell ax......... 8.

(A) B f W (B) e 4l o

(C) viiseieR Al iR (D) BuRisd U4l 518 -l

RURAHL AWlBiord GLSi-L S ........... Al AHA A1 89,

(A) A sl adl AR i ANl WAL 244 dA8L.
(B) dla (Will) -t adlazsel 241 232l a5 s1d 524,
(C) (A) ¢4 (B) i1

(D) (A) 211 (B) U4l 418 -l

MURAHL 5240 utld ouotd DA WA sui (sl 0l o ?

i. MAUOLIHAEH 52 (Regressive tax) Adl 52421 6 5 % A ASAUUU 52l A5 2uasao lsauil Gur
Qg AU 2 9.

ii. MHLRLIAUR 542U (Proportional tax)d $8@2 $4ARU (Flat tax)-il AL Wl Acuui »ud €.

i, Weadt 52420 A Al aydld 8 5 % SIS v lSdaiiqn od BUR Qe 2ud 8 dHY Ayd Al
214 69,

(A) $5d i 21 i (B) 5 iii A i (C) 85 i wA i (D) i, ii - i
iadlu wadldl (International liquidity) <l aHat .......... Al [B1 Guastar e AsouAdl .
(A) Rl 217 Al (B) Alg, 2t aiel

(C) $14R A1 1= 818 (hard) A4vl (currency) (D) BuRisd U4l 516 Al

Aly [agell st (FDI) i [Agsll 2ien8lu st (FIH) ouoid DA WS sy [ wig © ?
(A) FDI 244 FI1 i1 21eddAni 3l cud 8.

(B) FDI it a2l Gu-il [RARIL FI1 Sl 2419 69,

(C) FDI, FII 52l ay [Ra2 glaug awua .

(D) GuRlsd U4l s -l

DA U 5y / s (At / [l 2 / i 69 ?

(A) BUR GDP A1y M1d e1rauni 2ud 6 L d R4 GDP sad €.
(B) Aidlds (A1) GDP Al g1y [RAR ¢id scuHi 204 69,

(C) (A) ¢4 (B) i1

(D) (A) 211 (B) U4l 418 -l
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1. It includes only those transactions that affect current income and expenditure of
government

107. Which of the following statement(s) is/are correct regarding Revenue Deficit?

2. It considers the current borrowings by the government

3. As per the Fiscal Responsibility and Budget Management Act the government is required
to reduce the Revenue Deficit to 3% of the GDP

.1 only (B)1,2and 3
(C)1and 3 only (D) 1and 2 only
108. The Accounting year of the Reserve Bank of India is before 2020-21.
(A) April to March @.uly to June
(C) October to September (D) None of the above

109. The function of commercial banks in India includes
(A) Purchase and sale of shares and securities on behalf of customers

(B) Acting as executors and trustees of Wills
@ Both (A) and (B)
(D) Neither (A) nor (B)

110. Which of the following statements are correct regarding Taxation System in India?

1. Regressive Taxes are those that have a greater impact on low income individuals than high
income earners.

2. A proportional tax is also referred to as flat tax.
3. A direct tax refers to any levy that is both imposed and collected on a specific group of

people.
(A) 1and 2 only (B) 2 and 3 only (C) 1and 3 only @.2and3
111. The problem of International liquidity is related to the non-availability of
(A) Goods and Services (B) Gold and Silver
@ Dollars and other hard currencies (D) None of the above

112. Which of the following statements is INCORRECT regarding Foreign Direct Investment (FDI)
and Foreign Institutional Investment (Fll)?

(A) Both Fll and FDI bring capital into the economy

(B) The restrictions on the entry of FDI are lower than that on Fll
(C) FDI is considered to be more stable than FlI

@ None of the above

113. Which of the following statement(s) is/are correct?
(A) When the GDP is estimated at current prices, it exhibits nominal GDP
(B) Real GDP estimation is made at Constant Prices
@ soth (A) and (B)
(D) Neither (A) nor (B)
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114.

115.

116.

117.

118.

119.

-0 poid Al U4 st [Qaunl i ¢ ?
i W@osa olsld (Run- Yad Ad wa & w12 AL 618101 (shadow banking)d [(Ruw- uiou d ag -l
ii. culBiosy oivlorn el (Faungidlza) i il gia €9, o A3l ci-floru 8oL (Faueteidla)- i
Sldl -,
iii. al@opy, G5l sl 221240 (depository institutions) sicugl iy A% 530 asdl Al R 2t
olsl g 1% 53 A5 8.
(A) i, ii 21 iii (B) $5d iii 21 i (C) 5 i 2n i (D) $5d i 21 i
MURAML 2adein 9RITR (Dependency ratio) L Rl Wi A WSl 53 Yo augn 8 ?
adl (0 - 14 ay) 244 (60 ad A BuR)
511 5l azdl (15 - 59 anl)
s14 5l azdl (15 - 59 aul)
Azl (0- 14 aM) 244 (60 Q¥ 24 GuR)
e azdl (0 - 18 au) 244 (59 ay 41 BuR)
511 52l axdl (19 - 58 avl)

(A)

(B)

(D) Gux-u U4l 5i€ 1l

228 8213l ugtal-l Gualad [RUlid 214 doissidir sid diadn d 414 Wl sy sty © ?
(A) HI-lud Nizisia (B) sulel sl

(C) 2l Sivs-A (D) Gux-u U4l £i€ 1l

oA 516 s MR Faauisdl vz 4 WL S di A1 UL 53 well AS asarll eua-u e ?
i. 2Reud R ii. s0RLl WIIR iii. ool yar iv. AR
(A) $5d i, ii A1 iii (B) $5d i A i (C) $5cii 24 iv (D) i, i, iii 241 iv

A2 WA su1 A5 d4lod A ASUHT vlieuan 89 ?

ALY Geln [ AMAIRRY you wsllai

1. AGUML AHARY M- (s, e

2. el3¢ll vy g, sl g

3. [ s1012 sl Gaurt Ala oua, sueflon, lusi

4. =4l vl Geun o151 <e9, M3 Le9, s

(A)1,2, 3 %44 (B)$5d 1,2 ¥ 3

(C) $5d 221 4 (D) $5d 1241 3

UG AL A, AU SHAL AHARIML S, d ... 8.

(A) USIEN HAS (B) uo1HlA

(C) B3tz yg ws1w (D) Ad) a3l dua (Aisten s ¥81%)
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14.

115.

116.

117.

118.

119.

Which of the following statements are correct regarding Banking?
1. Commercial banks are tightly regulated, shadow banking is not well regulated.
2. Commercial banking liabilities are insured, Shadow banking liabilities are not insured.

3. Commercial banks being depository institutions cannot create money, shadow banks can
create money.

(A)1,2and 3 (B) 2 and 3 only
@1:2and 2 only (D) 1 and 3 only

Which of the following, formula is used to calculate dependency ratio in India?

. Population (0 - 14 years) and (60 years and above)
Working population (15 - 59 years)

Working population (15 - 59 years)
Population (0 - 14 years) and (60 years and above) .

Population (0 - 18 years) and (59 years and above)
Working population (19 - 58 years)

(B)

(D) None of the above

Which one of the following is associated with the issue of control and phasing out of the use
of Ozone depleting substances?

@ Montreal protocol (B) Kyoto Conference
(C) Nagoya Conference (D) None of the above

If anybody is travelling through the Gir Forest, they are likely to see which of the following
animals?

1. Asiatic Lion 2. Marsh Crocodile 3. Wild Boar 4. Langur
(A)1, 2 and 3 only (B) 2 and 3 only (C) 2 and 4 only @.2.3and4

Which of the following pairs are correctly matched?

National Park/Sanctuary Prominent Animals

1. Chandraprabha Sanctuary Gir Lions, Sambar

2. Dendeli Sanctuary Tiger, Elephant, Hyena

3. Corbett National Park Nilgai, Swamp deer, Panther
4. Guindy National Park Snow Bear, Brown bear, Yak
(A)1,2,3and 4 .1, 2 and 3 only

(C) 2 and 4 only (D) 1and 3 only

INS Sahyadri was in the news recently, it is a
(A) Naval base (B) Submarine
@ rrigate Warship (D) Navy Recovery Vessel
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120.

121.

122.

123.

124.

125.

126.

A2 U4 s yast [@eell gflaumarrdl RaRdiA Aol saild € ?

i, 2uALdHl 818l

ii. [agell wigsifaul Astas g1y uas

iii. 28l HEd-u susl busL auni B21sl

(A) $5d i 2 i (B) $5d i A i (C) s i A i (D) i, ii 2 iii

20 U4 s (el 2o 69 ?

(A) s4R1A2 QR 2 U519 Baurt s2a1 W2 HAs2IA g1l AHiElAd (Bril¥a) adean sizsizuql Guala
CERR

(B) s¢gRiAx2 Axu i dloy ol (A9 A3 Ri-2) 21 x1iaRs cnS o w2 s 8.

(C) (A) ¢4 (B) bid

(D) (A) 21 (B) U4l 518 el

gz 25liaie W A [l Ul sun Qe i ¢ ?
(A) «gizuiu 128 ofle vi-fluiq 2sidiol Gualdl 2 8.

(B) 128 tfl2 irflugin 251ai® il AcHd 251Al A 8,
(C) (A) ¢4 (B) i

(D) (A) &t (B) U4l 418 -l

A0 U4 s (Al -2 e i e ?

i, 5 M2 YAUGIEIR AARUUL AURA 251 AH-u By Slu .

ii. WQo1r2 A d-il {221 YRdi AlRd 28 69,

iii. 32 siM Auseid] uelia sdai .

(A) 5. i 21 i (B) 55l iii A i (C) 85ci A i (D) i, ii 2 i

yedld uRaHel s2dl Guas 1A usdl dl 5120 5 yedl 2us ..........
(A) 2 id? 2=Alxc qaad 9l (B) g+l (51 [Bizius125 vivud €.
(C) Acde AldHir e 39 »3u yd wl 8. (D) all ald Hi2 39 udoLyl ws 6.

QA Q4 ARU3NA sul A WLl uR adl a3 ?
(A) Hoto 244 33 (B) Y5 Al AUy (C) b4 i1 Y5 (D) alA

a-(50U-1 dpiuHl g ¢ ?

i. a-(3eul adodons geuniq usia s2qi aell aisll siu 9.

ii. &-(3elr1 sl2in AR 20U A3 521 241 HIASYAR Gll-SloL (Furdls vitn) vid) v ydl
Bostau[5d uR1d €.

iii. #-(320l g d [Braga (B sl 4l

(A) 5 i 1 i (B) $5d i (C) 5d i (D) i, ii @A i

[PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


120.

121.

122.

123.

124.

125.

126.

Which of the following are the indicators of weakening stability of Forex Reserves?
1. Decrease in Import Cover

2. Inflow of funds by foreign portfolio investors

3. Decrease in coverage of outstanding short term external debt

(A) 1and 3 only (B) 2 and 3 only

(C) 1and 2 only @.2and3

Which of the following statement(s) is/are correct?

(A) Fluorescent Lamps use Phosphorous excited by electrons and produce light
(B) Fluorescent lamps are energy efficient and are best for indoor lighting

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statement(s) is/are correct regarding WhatsApp technology?
(A) WhatsApp is using 128 bit encryption technology.

(B) 128 bit encryption technology is considered as very secured technology.

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Cancer?

1. Cancer causing viruses have genes called viral oncogenes

2. Malignant tumors remain confined to their original location

3. Cancer cells do not exhibit contact inhibition

.1 and 3 only (B) 2 and 3 only (C)1and 2 only (D)1,2and 3

An artificial satellite orbiting around the earth does not fall down, this is so because the
attraction of the Earth

(A) Does not exist at such distance
(B) Is neutralized by the action of the Moon
(C) Provides the necessary speed for its steady motion

@ rrovides the necessary acceleration for its motion

Which of the following planets in the solar system can float on water?
(A) Mars and Jupiter (B) Venus and Neptune
(C) Mercury and Venus @saturn

What are the properties of X rays?

1. X rays have much longer wavelengths than visible light

2. X rays photons carry enough energy to ionize atoms and disrupt molecular bonds
3. X rays do not interact with matter at all

(A) 1and 2 only .2 only (C) 3 only (D)1,2and 3
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127.

128.

129.

130.

131.

132.

133.

A2 WAL suL GAwgl W=l 41 69 ?
i. a4, ii. Auaiu oledly iii. 21345 2SQ U2

(A) $5d i 21 i (B) $5d i A i (C) s i A i (D) i, ii 24 iii

2w W 53 / s Qe / [QuHl et ad e 0y /i 8 ?

i d aomd [g) 24 ounsini dla 215518938 2, Aledl M 5128 69,

i, d Al 2A0a3 [Beanei siviA Au @l si[ usias ¢,

iii. CURAHE 2 U A 4zl A21ds [As[Rd sami 2udl .

(A) $5d i 211 i (B) $5d iii 21 i (C) $5d i A i (D) 854 i

Al WS suL A1 ALY, Ad AL 2L 89 ?

1. [Q2dq A —ws i son 2. [a2imq B1 — 831
3. [@2AA E — s1g1m 2 ollud 4. [@a@A K —was
(A) 1,2, 3 244 (B) $5d. 2, 3 ¢ 4 (C) $5d. 32114 (D) $5d.4

Hira A4 BHPAUGIR, 51 DA UEL 55 8 ?
(A) Ay as-

(B) 2-ostd* £92i wisan-l [3aiA [Raid 2 6.
(C) (A) ¢4 (B) i

(D) (A) 21 (B) U4l 1S el

AFARHL AHRAURNHE QAL WIRS -UlASRS 51N ([3aR SRy AA) 2L AU USRS 5 -
(A) uigidL (AR A ulasi 530 as dan 5 sel

(B) @ Arury A1 uldsiR 530 A5 dan 2d s9u

(C) 39y ca A1 ulasi2 531 a5 dan deday

-\

(D) A2 ulasrs alsa atudl a3 deu o sivl

A2 Wl s ylseur sl Rutsant (19 (2696 wlalsur)-u Sireuml & ?
i. [Aya wouni (3eiell 521

i 2Afe=u S4al sl ay ngual

jii. wular@A gsain aad asadai

(A) $5d i 2 iii (B) $5d i 21 i (C) 5 i 21 i (D) i, i &4 iii

A2 WS s [l 2easa M8 (Rau 25UdiD) susid ul ¢ ?

i. MEO yedl-l e amt saun veunadl adn aua sa - S-2@dlzie usfar 2z ua s 9.
ii. MEO 1 gdlu G2l 520wl 581 6§ 5128 5 GuAS 2L AL 2l Yo ol Ja aHeL 52 ©.

i, 20 (MR s2Hl Guas yedl-i Ya ol fa mHe 52 ©.

(A) i, ii 21 iii (B) $5d ii A i (C) 5. i A i (D) $5d i A i
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127.

128.

129.

130.

131.

132.

133.

Which of the following products contain Mercury?
1. LCDs 2. Laptop batteries 3. Some oil-based paints
@1 2and 3 only (B) 2 and 3 only (C) 1and 2 only (D)1,2and 3

Which of the following statements is/are correct regarding Rotavirus?

1. It is the most common cause of severe typhoid among the infants and young children.
2. It infects and damages the cells that line the small intestine

3. An indigenous Rotavac has been developed by India to tackle with this virus

(A) 1and 3 only @2 and3only

(C)1and 2 only (D) 2 only

Which of the following pair(s) is/are correctly matched?
1. Vitamin A - Ripe yellow fruits

2. Vitamin B1 - Eggs

3. Vitamin E - Nuts and Seeds

4. Vitamin K - Spinach

@1.2.3and4 (B) 2, 3 and 4 only

(C) 3 and 4 only (D) 4 only

Which of the following is the function of Haemoglobin in the Human body?

@ Transport of Gases (B) Regulating release of enzymes
(C) Both (A) and (B) (D) Neither (A) nor (B)

The ‘Killer Immune Cells’, which were in the news recently, are a type of
(A) Red Blood Cells, capable of fighting anaemia.

.White Blood Cells, capable of fighting the strains of flu virus.

(C) Platelets, capable of fighting the Dengue fever.

(D) Plasma Cells, capable of improving immunity.

Which of the following are the disadvantages of nuclear fission reaction?
1. Large Radioactive waste

2. Higher Pollution than fossil fuels

3. Possibility of environmental damage

(A) 2 and 3 only (B) 1and 2 only

@1 and 3 only (D)1,2and 3

Which of the following statements are correct regarding space technology?
1. Medium Earth Orbit (MEO) is also called as Intermediate Circular Orbit

2. The MEO is also called as Polar Orbit, because satellite in this orbit moves from
pole to pole.

3. In this orbit, the satellite moves around Earth from Pole to Pole.
.1, 2and 3 (B) 2 and 3 only (C) 1and 3 only (D) 1and 2 only
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134.

135.

136.

137.

138.

139.

A1 U s (Al PSLV 244 GSLV tusid 010 €9 ?

i, @il Rl A2eude dl- ddlsa gdlu G 2l Guast sisal 1 quAd 8.
ii. GSLV il MaM dvissl 8- o1dRl U 2uiRa 69,

jii. PSLV «ll uaM 21 Sl doissl an stndel u 2uaRd 9.

iv. GSLV il =llofl deissi, 51 [As 2s-iaio u sutlRd 6.

(A) i, i, i 2 iv (B) 54 i, iii 1 iv

(C) $5d iii A iv (D) 85 ii

20 U4 s (el 2ui 69 ?

(A) SAria vitel A4 2108 oi UsiR ool Gau~ ad a3 9.
(B) cuall3na i wis Galoar-dl 2usugia Hicnflauidl s1dl asu 9.
(C) (A) ¢4 (B) bid

(D) (A) 21 (B) U4l 518 el

20 U s A3l ALy Ld AUHL 2ude €9 ?

1. Ail&s 22 Aud — A4, D) @ur

2. 911 Aud — dedlor x4 S=sdlua sl2a1

3. A 3522 AU — 6URSLS 33

(A) 1,2 x4 3 (B) $5d 2 241 3 (C) $5d 101 3 (D) $5d 1211 2

A0 U s (el 312 27 AR cueid 1119 ?

i, VIR talA dRouL Gualol 82 €9,

i, AU 2e21A16+3 dZollAL GualoL 52 €9,

iii. i a3l qzuefl unaldd aS4 Naflazui ud 2ud O 244 Dl d-iu w3 9.

(A) i, ii 21 iii (B) $5c i ¢ i (C) $5d i w i (D) $5d i 21 i

A2 UL s A 1AL 24210 d FAsUH e €9 ?

(A) BR1L— 25 wut1R 5151 8, i SHadl g4 A3 €Il su2yds detude U as onu 6.
(B) 210t 81 — s sALrsal WiuH & % guiani Guailoll awtdl siet e syl dlde s 8.
(C) 2392 — 24 AYIUAR-L 2Adl USIR & FHL YR GIRL SAUHL 2adl Sl-2215+1 A8 A 8.

(D) Gu U4l 15 uwt 1l

20 U s A 51241 2420108 Tl FAsUHL 2ticar €9 ?

(A) 2% — 2agell ARia you ys 2s

(B) s1e5 — AU g11 uRd- Yl wsaHi 2uda 5 [Ruda
(C) ARY — a2 [As[Rad walRs Gsun w81y

(D) US. oA AAA. SE6L — SIRAUR WId BUAE ASIEN HAUS
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134.

135.

136.

137.

138.

139.

Which of the following statement(s) is/are correct regarding PSLV and GSLV?

1. Geostationary Satellite Launch Vehicle used to launch satellites into Polar Orbit.
2. The First Stage of the GSLV is based on Solid Fuel

3. The First and third stages of PSLV is based on Solid fuel

4. The Third stage of GSLV is based on Cryogenic Technology

(A)1,2,3and 4 .2, 3 and 4 only

(C) 3 and 4 only (D) 2 only

Which of the following statement(s) is/are correct?

(A) Ethanol can be produced from both edible and non-edible seeds.
(B) Biodiesel is extracted from molasses, a byproduct of Sugar industry.
(C) Both (A) and (B)

.Neither (A) nor (B)

Which of the following pairs are correctly matched?

1. Solid State Lasers — CD, DVD players

2. Gas lasers — Welding and industrial Cutting

3. Semiconductor Lasers — Barcode Scanners

@1.2ands3 (B) 2 and 3 only
(C) 1and 3 only (D) 1 and 2 only

Which of the following statements are correct regarding Radar and Sonar?
1. The Radar uses Sound Waves
2. The Sonar uses Ultrasound waves

3. In both waves are reflected from the target back to the receiver and are processed by the
receiver

(A)1,2and 3 (B) 1and 2 only
@2 and 30nly (D) 1and 3 only

Which of the following pairs is INCORRECTLY matched?
(A) Phishing — it is a cybercrime in which spoofed email directs the user to fraudulent website.

(B) Trojan Horse — it is a malicious programme contained within apparently desired
programme or data.

.Adware — These are forms of spyware which track keystrokes made by the user.
(D) None of the above

Which of the following pairs is INCORRECTLY matched?

(A) Arjun — Indigenously produced Main Battle Tank
.Phalcon — Cruise Missile supplied by Russia to India

(C) Saras — Indigenously developed civilian passenger aircraft
(D) INS Kadamba — Indian Naval Base at Karwar
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140.

141.

142.

143.

144.

145.

146.

QA1 U4 55 suotd wRAHdl (UV) [Beted] diz widlsiu Rizeuni eudt eod € ?
(A) 2 8UASIRS Yau DA [Aflu 530 - 53 6.

(B) d wellidl »A[AfE9q goly g2 2 8.

(C) (A) 21 (B) i

(D) (A) 21 (B) U4l 418 -l

2ua(s A[MARA (228 vi-RuRa) B .......... AslEld sALE 6.
(A) ariuldirl 2401 21421 WAl a2 (B) wellAinigl anuldimi
(C) (A) 211 (B) bid (D) (A) 21 (B) U4l 418 -l

A2 wgl-1 244 w€l-2 1 1l Ad A3l

wg-1 el-2

a. Sligldlau i. Grwsl A0

b. srulGile ii. 2ugailas (s

c. d32x iii. siule [AsiR

d. Rorad iv. 210 AW

(A)a-ii,b-iii,c-iv,d-i (B)a-ii, b-iii,c-i,d-iv
(C) a-iii, b-ii,c-i,d-iv (D) a - iii, b - ii, c - iv, d - i

Gt DA 56 AsuHl ARl usd $3 asi ?

(A) e A doud (B) 0 A AHY

(C) e, dousd A AHY (D) GuR WAl 25 el -l

o1 AL (CD) 4l NSIAME AUHL 211 UL HALARL USIR-L IO SV 69, L 6UoAdA ..., R
2R AUl ASIA.

(A) Ydd 24 [Qad+ (B) URlad- 1 UisH

(C) [AadH 21 uas- (D) 352, [Aadn 244 Ucig

Y[5au2 N2 A Qe 423 dsldd 2 8 5 —

(A) y[sau2 Quiseaui A6 Ruisaq (lun sivian) adl =8l s 219, llsoiui a6,
(B) ~y[5auR duiserui A uisaq [RlBid siu 6.

(C) =y[sauR Nis2Hi AG Rutsan [RuBid sid) .

(D) Bu WSl 215 ua 1l

Al 25UAD ......... Ui Guaiol as as.

(A) vuL wiellmid) HIg si-iaal we (B) eMd el gg s w2
(C) Aled ML 244 viiRs+1 WSy W2 (D) GURlSd dHIH

[PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


140.

141.

142.

143.

144.

145.

146.

Which of the following is the role of UV radiation in the water purification systems?
.It inactivates and kills the harmful microorganisms in water.

(B) It removes all the undesirable odours from the water.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Genetic Engineering allows the genes to be transferred

(A) Across different species of plants (B) From animals to plants
@ Both (A) and (B) (D) Neither (A) nor (B)
Match the following List-1 with List-II:

List-1 List-l

a. Haemophilia 1. Deficiency disease

b. Diabetes 2. Genetic Disorder

c. Rickets 3. Hormonal Disorder

d. Ringworm 4. Fungal infection

(A)a-2,b-3,c-4,d-1 .a-2,b-3,c-1,d-4
(C)a-3,b-2,c-1,d-4 (D)a-3,b-2,c-4,d-1
Temperature can be expressed as derived quantity in terms of of the following.
(A) Length and Mass (B) Mass and Time

(C) Length, Mass and Time .None of the above

When a CD is seen in Sunlight, rainbow like colours are seen, this can be explained on the
basis of the phenomenon of

(A) Reflection and Diffraction

(B) Reflection and Transmission

(C) Diffraction and Transmission
.Refraction, Diffraction and Transmission

The difference between a Nuclear reactor and an Atomic bomb is that

(A) No chain reaction takes place in nuclear reactor, while in the atomic bomb there is a
chain reaction.

@ The chain reaction in nuclear reactor is controlled.
(C) The chain reaction in nuclear reactor is not controlled.
(D) None of the above

Nano Technology can be useful in
(A) Desalination of water

(B) Wastewater Treatment

(C) Cosmetics and Food packaging
@A of the above
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147.

148.

149.

150.

151.

152.

153.

154.

155.

Algd™l [Asla sl udd FHA Gus 3 el i vy Guadll agi d .......... 8.
(A) HI-l A2eaude (B) wigeia dfla (C) HieuSa 2y (D) 21-1ulv3R

2l WAL 512U A buotd 53/ sui 1 / i e ?

(A) 5120 AU 2 PAAAL AYS 9 % ARl A xAsye 312 [Rrgin Y- Braudld sia 8.
(B) lad S AUURA (NCOV) A Adl 2285 €9 g+l epruui 24 4 el

(C) (A) 21 (B) i

(D) (A) 21 (B) U4l 518 el

AW AdAHE US1A A2ANRL £RA1 Arkla ygi-l BAuler €2 .......... S8 69,
(A) sa walds Gauesdl (B) Alvvil wialis Geaug sl
(C) $& SR GAwesal (D) Alve] dleL Beurgsdl

dUes HellgR 1 TUCN git cudt weln mayeis Raladl umld aela 8. d .......... Qi 6.
(A) uall (B) ud (C) Wl (D) [Brendl

National Council of Applied Economic Research (Mal®d Ag2uzst daib--dl andla uRue)-l
Land Records and Service Index (¥l £5d2 244 Aal (2)l uam 2ugl x2q0R w4 £5d2-1

oS Iaul AAd A% .......... HL 54 2Udd .

(A) 15t (uda) (B) 9 (HaML)

(C) 191 (Atonsflzaau) (D) Gur-L U4l s yw (S
QU ARSI BRUAL YA 6L AGAA-G ... ANH Al SN Ul

(A) 2020 (B) 2021

(C) 2022 (D) 2024

Al 2ae wlasaL (National Health Authority) (NHA) «u [Qsdual 461 PM-JAY - Pradhan
Mantri Jan Arogya Yojana (M=l o+t 202104 Uig-l) 60 glalid 2= AAUHL HISAURL
Al el ... A%, 21U 54 8 6.

(A) AxUd (B) vl (C) A (D) MRvis

aAlgd™i -l WSl sal SAARC g2 ¢4 United Nations Human Rights Council (UNHRC) (2445
A2 HIra AR WRNE )AL Al WA Ygril sAaHil g2 A AL ?

(A) tlideug (B) 158zl (C) wlZein (D) fleist

RBI ¥l “Now Casting Indian GDP growth using a Dynamic Factor Model” [Reia (QuR) git
auRdrl glgll auatdl a2 12 Yast 2% sal 6. AA-AL WA Sl 1A d Al Adl ) ?

(A) A 513 Havlluil (B) s (C) & WA (D) 6l (B2
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147.

148.

149.

150.

151.

152.

153.

154.

155.

The recently developed device GEMINI will be most useful for fishermen, it is a
(A) Mini satellite @ rortable Receiver
(C) Mobile App (D) Transponder

Which of the following is/are correct regarding Coronavirus?

(A) Coronavirus is a large family of viruses that cause illness ranging from common cold to
severe acute respiratory syndrome.

(B) A novel Coronavirus (nCOV) is a new strain that has not been previously identified in
human.

@ Both (A) and (B)

(D) Neither (A) nor (B)

In an Ecosystem the rate of production of organic matter during photosynthesis is
called

.Gross primary productivity (B) Net primary productivity

(C) Gross secondary productivity (D) Net secondary productivity

Golden Mahseer is an endangered species on IUCN red list, it belongs to
(A) Birds (B) Snakes @rishes (D) Cats
According to the 1st edition of Land Records and Service Index by National Council of

Applied Economic Research, Gujarat stands in rank in digitization of Land Records.
(A) 1st (B) 9th @ oth (D) None of the above

According to the Union Government of India, Chandrayan -3 will be launched in the
year

(A) 2020 @ 2021

(C) 2022 (D) 2024

According to the analysis by the National Health Authority (NHA) under PM-JAY - Pradhan
Mantri Jan Arogya Yojana scheme state tops the list in sending patients to other
states.

(A) Gujarat @ Madhya Pradesh

(C) Rajasthan (D) Jharkhand

Which of the following SAARC countries has withdrawn from United Nations Human Rights
Council (UNHRC)’s resolution on war crimes recently?

(A) Bangladesh (B) Afghanistan (C) Pakistan .Sri Lanka

RBI introduced 12 indicators for calculating India’s growth by paper titled “Now casting
Indian GDP growth using a Dynamic Factor Model”, which of the following is not in the list?

@ Cooperative Societies (B) Exports
(C) Rail Freight (D) Bank Credit
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156.

157.

158.

159.

160.

161.

162.

163.

164.

Department for Promotion of Industry and Internal Trade (DPHT) (Beidl 241 2idlRs R
UlcAls [Ae101) g1RL digdaHi A2 Ul su1 &1 100% FDI HogR sl 2ud) ?

(A) Dl wisla (B) dlan Su-lil

(C) (A) 21 (B) i (D) (A) 21 (B) ¥i5 uaL 1l

WAL a2y, Gl S1AE1A Ul ALl atiRal 8ddl $e2Ll, 27, 2020 <UL A% HIRAHE AR WA
[Ba Hrtacmi 2uel. WA [Bau 2020 <L yeu [Q20R (Theme) .......... Sl

(A) WA 1 dHIH sustd 89, (Protein is everything)
(B) WL H uot 89 8

(C) WA 4 su1 8

(D) WAL vuil Yot WL

ABARML 575 U2 ... U Awtud “Santusht’ -l Wisusa App il I sul 9.
(A) ESI cucuddlAl (ESI Beneficiaries) (B) (1 20218ld wogR

(C) wa™ml Al (D) GAles1H MR

3.5, (United Kingdom), 2dl2Rdx3 11 ¢iRdi [Auaidi-l 1M Cave fish 0L [A#-) Qe Wil weald
.......... vitdl il 518l €.

(A) 529, d%Ud (Kutch, Gujarat)

(B) NeolAl 25921, caulaa-ug (Nilgiri Hills, Tamil Naduy)

(C) &2l 25324, Haue (Jaintia Hills, Meghalaya)

(D) [Rest uRiar, iR (Chilka Lake, Odisha)

A, Holl 2l A3+ Hilt Al nam ar Ml §-lan yRalidl sisu (Khelo India University Games)s

.......... viid Beaned s,
(A) Bl — alharug (B) s25 — iR
(C) sun — sulles (D) [a3uld — 2niauea

2020 L Asian Wrestling Championship (2i2lla-t g2l 2vflu-ialiu)ui 36l sl sauidt 2iaqu
54 28] FUR MR ... HL 54 20

(A) 2nd (tllen) (B) 3rd (-len) (C) 4th (ian) (D) 5th (uia™L)
MURA USIR .. el g8 ulEw andl (Milk Processing Capacity) etell s2au, 154l 534 8.
(A) 2022 (B) 2025 (C) 2030 (D) 2035

(A2 ¢ 321619 (World Language Database), Ethnologue <l 224l gl 2412, 201941 [8+€)
[Qa-l.......... sull Alell ay sliendl sum €9,

(A) 2i3120 ugd| ollon (B) #3311 (Mandarin) ugsl ~{lon

(C) u-la ugsl Al (D) usal

AP ARHL USA 21 dlasuA .......... 22 vild dH-L SSEURRALL vld A4l Yaril vid draai S¢ell
BAlasis anogdl U sz sul.

(A) S (B) sc1R (C) WlZdin (D) ¢4l
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156.

157.

158.

159.

160.

161.

162.

163.

164.

In which of the following areas 100% FDI allowed recently by Department for Promotion of
Industry and Internal Trade (DPIIT).

(A) Insurance Broking (B) Insurance Companies

@ Both (A) and (B) (D) Neither (A) nor (B)

India’s 1st Protein Day was observed on February 27, 2020 to raise awareness about the
health benefits of protein. The theme of the Protein Day 2020 was

(A) Protein is everything (B) Protein mey sub kutch hai

.Protein mey kya hai (D) Protein Khao Sukh Raho

Union Government recently launched the Mobile App called “Santusht” for the benefit
of

@Es! Beneficiaries (B) Unorganized Labour

(C) Pregnant Women (D) Construction Labour

A team of experts from the UK (United Kingdom), Switzerland and India have discovered the
world’s largest species of cave fish in

(A) Kutch, Gujarat (B) Nilgiri Hills, Tamil Nadu
@.aintia Hills, Meghalaya (D) Chilka Lake, Odisha

Prime Minister Narendra Modi inaugurated the first-ever Khelo India University Games
at

(A) Trichy, Tamil Nadu @ cCuttack, Odisha
(C) Hasan, Karnataka (D) Tirupati, Andhra Pradesh

In the 2020 Asian Wrestling Championships, Japan ranked top in medal tally, while India
ranked at position.

(A) 2nd @z«

(C) 4th (D) 5th

Government of India decided to double the milk processing capacity by
(A) 2022 @025

(C) 2030 (D) 2035

According to the 22nd edition of World language database, Ethnologue, Hindi is world’s
most spoken language in 2019.

(A) 2nd after English @ 3rd after Mandarin
(C) 4th after Spanish (D) 1st

Recently USA and Taliban signed a historic agreement aimed at ending war in Afghanistan
in .

(A) Egypt @ aatar

(C) Pakistan (D) Turkey
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165.

166.

167.

168.

1609.

170.

171.

Gu™LsdL AR ABAuH 2019 [Qg Al A s Qe i ¢ ?
1. 2 2AA[AuN o0 Sdlu GuaLsdl U8R AraulE sl 2=y asl.
2. 2 2ARUH 21 ARH1L €1l ANEAALA i stadl HIS B, AL, A48

3. 20 2ARRUN 2iddld Bueisdl A8 ATASIR 3L WIS AMEAL 2UUURA AN8AASIR, BAues, el
AL AHAA AUAUR UR 3L 10 At YAl €3 adudl asial.

(A) 1,241 3 (B) 1A 2 244, 3 (C) WA 1 1A 2 (D) WA 1 4 3
AlgdHl wen H-l Ruar AldiRiun gl EASE 3.0 -l MM UM 20Ul 9. UL AL .......... el
A 8,

(A) 6isla (B) 2215 w32

(C) &Ll (D) Gu-u U4l s uw [

Surrogacy Regulation Bill 201941 5+ld 36012 1AL Ul suL YL HogR sul ?
1. deuca aoedl caval € 53,

2. A @5 10U % S udg <SS wa A 3 % Surrogate Hidl Al dUIR SlA d HYR AN
24148l.

3. Surrogacy (Regulation) Bill %1 dlsueuMi 201941 WRd ¥y

(A) WA 2 914 3 (B) {1 1 244 2 (C)AL 1 314 3 (D) 1,21 3

Indra Dhanush Exercise 2020, % [8-3i- 24251 A7 Hid Aoaddl MURd A .......... 2ol a3l
dYsd 251 sa1d (exercise) 8.

(A) USA (B) UK (C) A2 (D) siu

QURAHE dlS Bl 254D cuotd A4 U 54 Qi /sun [Qaunl 02 / i 6 ?
(A) yedl uR dls-l Heradl 10 ualdil € 5 o Hi2Lwa s 52 9.

(B) GIRAHL HIA 4 Al HOL 9 d 2w L3, elisl dl3, a0iddd dl3 211 g dls.
(C) (A) ¢4 (B) tid

(D) (A) 21 (B) 215 waL -i[&

cuRdly viddla A2y 2 (Indian Space Research Organization) (ISRO) 24 tidlu Guvisd

Add ANa2 2 s d e .......... GuAS UBULL 529,
(A) GISAT - 1 (B) RISAT - 10
(C) ISATC - 10 (D) Gu~u U4l s uw [

ICMR g1 22t LR i) viiais (@il 2al 2911 248 ata UsifRia sau suoid - U4 s [Qan-

AL e ?

1. U AR AR ARW{AL aunel st 2 HiASIKI2AL sl Ay 52 6.

2. AR USRI adld 2060l (Added fat) -t QupAUi [Bedl 24 24ug1ale WELHT AAAL 54 6.

3. vidaH] AH waL guar 8 5 adld 6l (Added fat) 3 13 €l 30 aui-l Quaga-i disi Alell ay
CTETR TR RI

(A) 1,243 (B) Wi 2 ¢4 3 (C) {1 241 2 (D) "L 1244 3

[PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


165.

166.

167.

168.

169.

170.

171.

Which of the following statements are correct regarding Consumer Protection Act 2019?
1. Central Consumer Protection Authority will be established under this Act.
2. The Act gives special focus to stop misleading advertisements.

3. Under this Act the Consumer Protection Authority may impose penalty upto Rs. 10 lakhs
on the advertiser, manufacturer, trader or even endorser for misleading advertisements.

@1.2and3 (B) 2 and 3 only (C) 1and 2 only (D) 1and 3 only

EASE 3.0 was launched by the Finance Minister Nirmala Sitharaman recently, this scheme is
related to

@ Banking (B) Stock markets (C) Tax payers (D) None of the above

Which of the following changes were approved by the Union Cabinet in Surrogacy Regulation
Bill 2019?

1. Deleted the definition of the Word “infertility”.

2. Not only close relatives but “any woman” willing to act as a surrogate mother shall be
allowed.

3. The Surrogacy (Regulation) Bill was passed in Lok Sabha in 2019.

(A) 2 and 3 only (B) 1and 2 only (C)1and 3 only @'.2and3

Indra Dhanush Exercise 2020 is India and joint air force exercise held at air force
station Hindon.

(A) USA @ ux (C) Russia (D) France

Which of the following statement(s) is/are correct regarding Locust Pest attack in India?
(A) There are 10 important locust species on the earth that cause major damages.

(B) Only 4 are found in India. They are Desert Locust, Bombay Locust, Migratory Locust and
Tree Locust.

@ sBoth (A) and (B)
(D) Neither (A) nor (B)

The Indian Space Research Organization (ISRO) is to launch satellite in order to
watch Indian sub-continent continuously.
.GISAT-1 (B) RISAT-10 (C) ISATC-10 (D) None of the above

Which of the following statements are correct regarding the report on food habits of the
citizens of the country released by ICMR?

1. According to the Study, vegetarians consume more fat than that of non-vegetarians.

2. Among the metropolitan cities of India, Delhi and Ahmedabad topped the list in average
consumption of added fat.

3. The report also said that highest intake of added fat was in the age group of 13 to
30 years.

(A)1,2 and 3 (B) 2 and 3 only @1 and 2 only (D) 1and 3 only
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172.

173.

174.

175.

176.

177.
178.

179.

ABdML AURAlA 36fl2 3 Air Transport A .......... FDIs «ll uauolld Hogdl 2l .
(A) 49% (B) 51%
(C) 66.6% (D) Gux-u U4l 25 ur [

Banking Regulation (Amendment) Bill 2020, (G15lo1 [Rusl (yaweeu) [@8us, 2020) sustd Hla-n
UA su [Qan-l i ¢ ?

1. 2 [A8us 24 1540 u8s1d] Gisid [Raf@d sau e .

2. 2 yureudll RBI WA [Ra=1aiqi sial GuRia-l asii-l At 2uasl.

3. S1aHi A 13) G5 a5 Hsollai-n 2292212 214 RBI L [R>101 S50 69,
(A) 1,243 (B) {A 2 ¥4 3

(C) {1 1 244 2 (D) H1A 1 244 3

A UL s1 61 2200 24 a4 (42 3290 220l wElHi 3 A512 G121 UHIBd ST 20 6 ?
(A) dlcndlRL, vl Acdrd-l -5 241 [Secnil

(B) diendlt i el

(C) o] dan &y, Yadir- 3RSl 21 [Seanil

(D) &1y, YAl MRS S §3WH

RURA ARSI AU A, AMAIRRUA vauiaRelly Adenglla &xt (Eco-sensitive zone) a5 alld sul
8. VUL VAR A .......... 4 R 2214 69,

1. Gangetic Dolphins 2. Gharials

3. Olive Ridleys 4. Long tailed monkeys
(A) 1,2, 304 (B) HAA 2 ¢ 4

(C) "L 1 241 2 (D) Wiat 3 244 4

Rd WAl 2auld 2310 W€ 2 DAL UA suL S8 52A UR SANAR sul 69 ?

(A) Y5 (B) siou

(QESE I (D) >ud-la

RS Ada 2020 AAAIR, HUIRAME AL 247 Qe AR 2L g NN Aatrl ... usiy 8.
(A) 24.56% (B) 14.84%

(C) 31% (D) Gu-u U4l s uw [

Transparency International -l dl%d-il UA&RL AFUIR t1B2rll JRAUHL MURAT, ..o A%, 2lA
s 2044 9,

(A) A%Ud (B) 2004 (C) [2edl (D) e

BRAAH UAAY MR U512 2Z5t-u gauuidl ... el ¢uRdui dracn i+l ol 2udl.

(A) 1S (B) »ul3s [

(C) 2ulzs R (D) Gu~u U4l s yw A&
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172.

173.

174.

175.

176.

177.

178.

179.

Recently Indian Cabinet approved and allowed FDlIs in Air Transport Services.
(A) 49% (B) 51%
(C) 66.6% @ None of the above

Which of the following statements are correct regarding Banking Regulation (Amendment)
Bill 20207

1. The Bill intends to regulate 1,540 cooperative banks.
2. With the amendment, RBI will have extra powers apart from regulatory functions.

3. The Cooperative Banks are currently under the control of Registrar of Cooperative
Societies & RBI.

@1.2and3 (B) 2 and 3 only
(C)1and 2 only (D) 1and 3 only

Which of the following two sites nominated by the union government to the world heritage
Site List recently?

.Dholavira, Monuments and forts of Deccan sultanate
(B) Dholavira and Bhuvangiri

(C) Bhuvangiri and Monuments and forts of Tippu Sultan
(D) Monuments of Tippu Sultan and Kuruppam

Government of India declared National Chambal Sanctuary as Eco-Sensitive Zone. The
Sanctuary is home to

1. Gangetic Dolphins 2. Gharials

3. Olive Ridleys 4. Long tailed monkeys

(A)1,2,3and 4 (B) 2 and 4 only

.1 and 2 only (D) 3 and 4 only

Which of the following countries signed an agreement to purchase Swati Radar from India?
(A) Ukraine (B) Congo

(C) Kazakhstan @A rmenia

According to the Economic Survey 2020, the forest and tree cover in India reached
of total geographical area of the country.

.24.56% (B) 14.84%

(C) 31% (D) None of the above

According to the recent survey of Transparency International state of India topped
in Budget Formulation.

(A) Gujarat .Assam (C) Delhi (D) Goa

Supreme Court permitted the Indian Government to introduce animal in India from
the African countries.

(A) Giraffe (B) African Lion

@ African Cheetah (D) None of the above
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180.

181.

182.

183.

184.

185.

186.

5% URSRAU HA A ... YA cudla 2ed 10096 dlovils@ as Ay sal.
(A) 2022 (B) 2024
(C) 2025 (D) 2026

AlBdRHL MIRA U2 National Democratic Front of Bodoland (NDFB) il -d %8 18 $_A U2
SAAUAR Ul 69, 2 ouoid AL WS s [Qrunl i ¢ ?

1. d &8sl s1Hs19 saL W2 i8Rl 4oyl ddl usal.

2. 1l 5A A AUAMHL Wl Bodo ul2anzflatiqA o flu ¢l Y1 uisel.

3. gRel1a1R Al 21 AUl 2 el 27 auul 1z AL sidl da =l AR 69,
(A) 1,2 x4 3 (B) {1 2 ¥ 3

(C) WA 1 241 3 (D) {1 244 2

vl sluel (Yaraw) [@Qas, 2020 suetd 1A WSl sau [Qai-l i ¢ ?

1. 2 [A8us g1 slaru ax Ayel wel al@ilpas vl sti s W viey Y.
2. d siaau vugl AUl 2ildu aungi- [RUelH g2 scu-l AL 8R4 9.
3. S1AHl MIRAlA 8AML 1009%6FD1 HogR $aUHE 20d €.

(A) W2 2 14 3 (B) {12 1 1A 2

(C) ™A 1244 3 (D) 1,23

(HRd'i .......... 82 ¥l 2021 Ui Science and Technology for Sustainable Development with \Women
Empowerment «iL i 18 1084l S+l Al Sl 2% HIA st 8.
(A) 2R (B) Y-l

(C) Ml (D) %uYR

[Az-u iS5l i 5 surdla il A4 Aluan qvid ... 2 W 54,
(A) ollog (B) A%

(C) Ay (D) wiay

[Avuid Nagoba Jatara Geddl 24 dIFdRMi .......... UM oA vieul,
(A) ddousu (B) 2Ai8 U2

(C) Msiru (D) ARUH

oA yedl 2120115 gl o A N dl g i ?

1. UALAREL Bl AYRubl 2aBid a8 na.

2. yedfl-L Hatl 28 e ugial vcid aadl g F516 .

3. yedl-l 635 20 W2 2 A YRdl st A0S [Baunl Alssu uany ol o,
(A) 1,243 (B) $5d 2 ¥ 3

(C) $5d. 2 (D) BuR U4l 51§ «l&
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180.

181.

182.

183.

184.

185.

186.

According to the Union Government, Indian Railways will run 100% on electricity by the
year

(A) 2022 @:2024
(C) 2025 (D) 2026
Which of the following statements are correct regarding the Government of India signed

agreement with the nine factions of the National Democratic Front of Bodoland (NDFB)
recently?

1. The outsiders will have to obtain “permit” to work in the territory.

2. The agreement will provide political rights to the Bodo Tribals living in Assam.
3. The accord is the third agreement signed in the last 27 years.

@)1.2ands3 (B) 2 and 3 only

(C) 1and 3 only (D) 1and 2 only

Which of the following statements are correct regarding Mineral Laws (Amendment) Bill,
20207

1. The Bill opens up the coal sector completely for commercial mining.

2. It also intends to remove end use restrictions to participate in coal mine auctions.
3. At present 100% FDlIs are allowed in Indian coal sector.

(A) 2 and 3 only (B) 1and 2 only

(C) 1and 3 only @1.2and3

city of India is going to host 108th Indian Science Congress with the theme “Science
and Technology for Sustainable Development with Women Empowerment” in 2021.

(A) Gandhinagar @rune

(C) Bhopal (D) Jaipur

Indian hockey team ranked position for the first time in the rankings of world
hockey teams.

(A) 2nd (B) 3rd

@:4th (D) 5th

The famous Nagoba Jatara festival was celebrated recently in the state of

@ Telangana (B) Andhra Pradesh

(C) Mizoram (D) Assam

What would happen if the Earth stopped spinning immediately?

1. The atmosphere would come to a complete standstill instantly

2. Objects on the top of the Earth would be thrown away with great speed

3. Every spot in the Earth would have permanent daytime or Night time all year long.
(A)1,2and 3 (B) 2 and 3 only

@2 only (D) None of the above
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187.

188.

189.

190.

191.

192.

193.

194.

195.

RuRAA 82 (330 24 30 (AR uruw Juwian (R21-s$ HREUA) a3 uzie sul & s1@ 5 ......

(A) d 7 [330 244 30 [lAe-u s 69,

AN oA

(B) d R AUAA HEHiH) U A1 69, Aol 244 42051 US AL LS5 AMA £ .

(C) (A) ¢4 (B) i1
(D) (A) 211 (B) U4l 418 -l

Mrdl Wz .......... Yl [QelRa 8.
(A) R{HIRL U5 udd (B) WilZ2ctt-u (312 udd
(C) (A) &1 (B) i1 (D) (A) ¢ (B) U4l 419 -l

A2let WAL 53 / s (At / [Qal wasl Wl ) /i ?

1. 237 5d w3 siA walRs vissi ugl ssau 8.

2. 2R 5d A ANgd VS xURid A4 i gouRt S18 [Agd vigsiHl uRad+ wH 8.
3. 21 v sl A [Agd vss 8.

(A) 1,243 (B) $5d 2 ¢ 3 (C) $5d 1041 2 (D) 554 3
ALMLAA: ARAULE A8 % AU ... ars w2,

(A) Aluefl G (B) uYg [QAzaiell 24iaRs [AarR
(C) gadl [Aygn (D) Guz Uslg 51 wa l8.
gadlae .......... Hi Al glardl asad 9.

(A) WrWR %Al (B) ustdl sl Herrl

(C) 2igsn Fadl (D) [Ayatla eurHil dla Faal
[uy, viou Aeiri-l Hi2weuordl Agll ......... oAl 69,

(A) A3ua 3% [zew (B) 3[34)s 3% [Rizen

(C) 2lax 3 [Mzen (D) YUR S+ 31 [Rzen

DA Y4 55 €l Rse ddll (512 vila)uidl addl 44l ?

(A) 8L €l (B) <1MgL (C) cawdl (D) £1MiER

NI DETRE PUTR C TR TETRE 2

1. HA AHEL 2 Ardl A aioll A€l € % WRHHE ad © A Aelyu siud .
2. ulau ae v surdla [Guseusil you gnlacusrs 9.

3. el ¥ sleeq 510 (Al add sivlamid) ad 8.

(A) $5d. 1211 3 (B) $5c 1 ¢ 2 (C) 54201 3 (D) 1,243

A2leu WS su1 ASRARL Asead ALY 204 € ?
(A) YR (B) AHHEIUE
(C) ManiaR (D) Gu~iL U4l syl ]
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187.

188.

189.

190.

191.

192.

193.

194.

195.

India has selected 82 degrees and 30 minutes as its standard Meridian, because
(A) It is a multiple of 7 degrees and 30 minutes.

(B) It falls in the center of Indian Territory thus representing the time of other regions
nearly well.

@ Both (A) and (B)
(D) Neither (A) nor (B)

The Indian plate extends to
(A) Rakhine Mountains of Myanmar (B) Kirthar Mountain of Pakistan
@sBoth (A) and (B) (D) Neither (A) nor (B)

Which of the following statement(s) is/are correct regarding rocks?
1. Igneous rocks are also called as primary rocks

2. Igneous and Sedimentary rocks can change into metamorphic rocks under great heat and
pressure

3. Sandstone is a metamorphic rock

(A)1,2and 3 (B) 2 and 3 only

@1 2and 2 only (D) 3 only

Rainfall generally increases as we proceed from

(A) Lower to Higher altitude (B) Coastal areas to Interior areas
@ roles to Equator (D) None of the above
Biodiversity is likely to be highest in

(A) Deciduous forests (B) Land of alpine meadows

(C) Boreal forests .Evergreen Equatorial Forests

Most of the rivers of the Indo-Gangetic plains are of .

(A) Radial Drainage System @ Dendritic Drainage System
(C) Trellis Drainage System (D) Superimposed Drainage System

Which of the following rivers does not flow through a rift valley?
@ Mahanadi (B) Narmada (C) Tapti (D) Damodar

Which of the following statements are correct?
1. The Narmada and Tapi are the only long rivers which flow west and make estuaries
2. Western Ghats is the main water divide in Peninsular India

3. Narmada flows through a rift valley formed due to faulting

(A) 1and 3 only (B) 1and 2 only (C) 2 and 3 only @.2and3
Which among the following cities of India receive the South West Monsoon?

(A) Nagpur @ Ahmedabad

(C) Bhubaneshwar (D) None of the above
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196. DA U4l su1 [Qanrl GuRdrl eUn-L AEHHL 1AL € ?
1. MR-l Aa1ie0ld 24 uiiglla a vig1 30° 6.
2. QR %Y Al AHE A a5 35 Rsa Hda ay [AaRd wu ©.
3. G-l vilauell elaw vilan yHld w3 2id 2uaR 3214 (Bl au o,
(A) $5d. 1211 3 (B) $5d 2 ¢ 3 (C) $5d 1241 2 (D) 1,243

197. DA UL 53 / sun (A / (sl Aidunla A1 suotd 03 / 0l 6 ?
1. AYsd w3y 2 sUTHR AU ALl aioll x1iadlu 0 wlsir, POK day Al ud .
2. v3euad ugaq Al qiofl x1idndlu A1 oeid, A 244 RiHR 019 6.
3. ulZau siound flog el ALl aioll viddlu Alu cidaie sy 214 RHIR 118 €9,
4. %2 uedl Ao 3 il Al disll videlu Alw qd 8.
(A) $5d1, 221 4 (B) $5d 1,2 ¢ 3 (C)85d 1 (D) 55d 4

198. 12+ VSl su1 A 5141 410U Ll ASAUHL 2itea 8 ?
uddl (Rl
L wRaed Bl 93 [wr
2. A1yt Bl yudle

3.yd ae sngens
4. Asa [Pl YHR $25 udd
(A) 1,2, 324 (B) $5d 2, 3 % 4 (C)$5d 1,2 4 (D) $5d.1, 221 3

199. DA WAl s (el ulZadl (Brue-i Heldl e i e ?
1. U Helrl 52691 2@l srugHsl Yl (e 8.
2. A A% Y2l eurmi [aculya a 9. silduans [Buiq, sis B da vasur sisiu
3. sldwans (3-uRl s29-u el elaani €la YHl [Raa ©.
(A)1,2%43 (B) $5d 1 041 2 (C)$5d 191 3 (D) $5d 2 911 3

200. DA Q4 suL uARN 4Y, Ad ASUHT 2L ¢ ?

1. [awgmaar — Qivloion i1 x1a5-€L 2. denadt — 43l v x4 s-el
3. 3gmaL — HEU3 21 nesie 4. gaua1dl — Ml x4 Anas-iel
(A) 1,2, 314 (B) $5d 2, 3 ¢ 4 (C)$5d 1,21 4 (D) $5d.3

201, AW UL 53 / s (A / [l yrud ol wie wig /vl e ?
1. $4 cloi(as (AR 19.67% (AR Ford [RaR dls ;e saul 2uel 8.
2. 391d MIRd- 13% aiulds dlamd ulalffca 52 9.
3. well @a AfAumi g2l 14% HeRA A 18% UAYU-AL AHIAL A 6.
(A) 1,243 (B) $5d.1 (C) 54201 3 (D) 5542
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196.

197.

198.

199.

200.

201.

Which of the following statements are correct regarding Indian geography?

1. The Latitudinal and Longitudinal extent of India is roughly about 30°.

2. India’s territorial limit further extends towards the sea upto 35 nautical miles

3. The Actual distance measured from the north to the south extremity is 3214 km
approximately.

.1 and 3 only (B) 2 and 3 only (C)1and 2 only (D)1,2and 3

Which of the following statement(s) is/are correct regarding states with International borders?

1. United Jammu and Kashmir have longest international border with Pakistan, POK and
China

2. Arunachal Pradesh is the state which has second longest international border with Bhutan,
China and Myanmar

3. West Bengal is the state which has third longest international border with Bangladesh and
Myanmar.

4. After Rajasthan, Gujarat is the state which has fifth longest international border.

(A) 1, 2 and 4 only (B) 1, 2 and 3 only .1 only (D) 4 only

Which of the following pairs are correctly matched?

Mountain Range Highest Peak

1. Aravalli Range — Gurushikhar

2. Satpura range — Dhupgarh

3. Eastern Ghats — Kalsubai

4. Maikal Range — Mt. Amarkantak

(A)1,2,3and 4 (B) 2, 3 and 4 only .1, 2 and 4 only (D)1, 2 and 3 only

Which of the following statements are correct regarding West Coastal Plains?

1. These plains runs from Rann of Kutch to Kanyakumari.

2. Divided into three sub categories i.e Kathiawar Coast, Konkan Coast and Malabar Coast.
3. Kathiawar coast extends from Rann of Kutch to Diu in the south.

(A)1,2and 3 .1 and 2 only (C)1and 3 only (D) 2 and 3 only

Which of the following Prayags are correctly matched?

1. Vishnuprayag — Dhauliganga and Alaknanda

2. Nandprayag — Nandakini and Alaknanda

3. Rudraprayag — Mandakini and Alaknanda

4. Devprayag — Bhagirathi and Alaknanda

.1, 2,3and 4 (B) 2, 3 and 4 only (C)1, 2 and 4 only (D) 3 only

Which of the following statement(s) is/are INCORRECT regarding forests of Gujarat?
1. Out of total geographical area, 19.67% of area is declared forest area.

2. Gujarat represents nearly 13% of the floristic diversity of the country

3. The faunal biodiversity consists of 14% fishes, 18% reptiles, of the country
(A)1,2and 3 .1 only (C) 2 and 3 only (D) 2 only
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202. AU st Q- oprnd-n v e i e ?
1. (Rl H3UR A 5269+ il 281l You uoald 8.
2. IUCN g1t (idlu gguiRe umnul ysidl uoald awud 6.
3. 2014 43R AR Hiewn Yoot 5249 Pyecuni vl Al ay adl ©.
(A) 1,243 (B) $5d 1 ¢4 2 (C) 54221 3 (D) $5d. 1211 3

203. QAW UA 53 / s [Qeunt / Qe gerRiani elRan (3ure Wl w2 /i e ?
(A) A€, AR, MY A Yo carll Ul Aee 2Rl AYg O,
(B) MUAIR, AU, %ri1o1e »im wireieR Pyecniil ydla aree 21200l uyg 8.
(C) (A) ¢4 (B) i1
(D) (A) 21 (B) U4l 518 el

204. N2 U4 s (Al orid w54l AlAL (SAUNI) dlorit Wi i & ?
1. [As (aisn) 1 — Hiroll wecudl auna: PByeal
2. (A5 - 2 — YRgoR Preanddl 02l [yeal
3. (A5 - 3 — Y=o [yecndl Aysie CBreal
4. [&s - 4 —uaneu [Cyecndl ogruare [Preen
(A) 1,2, 324 (B) $5d. 2, 3 ¥ 4 (C)$5d1, 203 (D) $5d. 1211 3

205. A UA s (Al orud-iL suleailat v i o ?
1. 9pAdll ul2aul azdl A2l 48 digstaini sl .
2. il A% 18% ARWas [AxdiRul s(sq €.
3. vulEauAl AL AEReAL €2 53.2% 6.
(A)1,2¢4 3 (B) $5d 2 211 3 (C)$5d 191 3 (D) $5d 1 1 2

206. AW US 1 [Qeu-l oparnd visllos sueid i 69 ?
1. RN MR, oflon e Alell |G [Ao-ue Beawen s 2 8.
2. 2a®[A G151 21 5269 Pyecuni olisaus el vl woll 2udl €.
3. salRRUIR vl 9121628 YR Lyecumi woll 2ud €.
(A) $5d 1 241 2 (B) $5d 2 ¢ 3 (C) $5d 121 3 (D) 1,243

207. DA U 53 / s A1 2120108 A ASAUHT UL €9 ?
1. AU AEARRY — Aladuy, ay, Rs
2. QU AU ARAIRRY, — BIRLS, [un
3. GLEISL AU HRAIRRY, — BIRAS
(A) 1,243 (B) $5d 2 ¢ 3 (C) 8543 (D) $5d. 1211 3

m [PSP] [Contd.

@ Teachingninja.in


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


202.

203.

204.

205.

206.

207.

Which of the following statements are correct regarding Wild Ass animal of Gujarat?
1. The Indian wild ass is considered as a flagship species in Little Rann of Kutch
2. IUCN gave endangered status to Indian Wild Ass

3. Kutch district has the highest Wild Ass population as per 2014 Wild Ass population
estimation.

(A)1,2 and 3 @1:and2o0only
(C) 2 and 3 only (D) 1and 3 only

Which of the following statement(s) is/are correct regarding Gujarat Coastal line?
(A) Valsad, Navsari, Surat & Bharuch districts have its western boundary as Arabian sea.

(B) Bhavnagar, Amreli, Junagadh & Porbandar districts have its eastern boundary as
Arabian sea.

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding SAUNI yojana of Government
of Gujarat?

1. Link-1 — Morbi District to Jamnangar District

2. Link-ll — Surendranagar District to Amreli District

3. Link-lll — Surendranagar District to Rajkot District

4. Link-IV — Mehsana District to Junagarh District

(A)1,2,3and 4 (B) 2, 3 and 4 only

@)1. 2 and 3only (D) 1and 3 only

Which of the following statements are correct regarding Tribal People in Gujarat?
1. Tribal population of Gujarat concentrated in 48 Talukas of the state

2. They concentrated around 18% geographical area of the state

3. Literacy rate among female in tribal people is 53.2%

@)1.2ands3 (B) 2 and 3 only

(C) 1and 3 only (D) 1and 2 only

Which of the following statements are correct regarding minerals in Gujarat?

1. Gujarat is the 2nd largest Lignite producing state in the country.

2. Bauxite mines found in Kutch and Devbhoomi Dwaraka districts

3. Fluorspar mineral can be found in Chhotaudepur

(A) 1and 2 only (B) 2 and 3 only (C)1and 3 only .1, 2and 3

Which of the following pairs is/are incorrectly matched?

1. Rampara Sanctuary — Blue bull, Wolf, Chinkara

2. Gaga Wild Life Sanctuary — Great Indian Bustard, Jackal

3. Jambughoda Wild life Sanctuary — Great Indian Bustard

(A)1,2and 3 (B) 2 and 3 only @3 only (D) 1and 3 only
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208. AW US 53 / st Qe / Qe ol Blcwa {00 003 /i 8 ?
(A) uartefl Qi — 2 gvs 4 AHYs ULAHE Ay A 1ol 8.
(B) W3 HIALRL A SidR Hicudl 3 gl dlaut-l ol UsiRi 9.
(C) (A) 211 (B) bid
(D) (A) 211 (B) U4l 418 -l

209. QA UA s [l vig [ viai & ?
(A) 210 ayg-l v 21200 Ang GuHll dudla 6eL BUR F51U 6.

(B) tioun-il Guandi-l e sioum-u GuaeHidl ¢y 2isa 30 MR 21 l@w yd sidaisa
Y SRS 89,

(C) (A) 21 (B) i
(D) (A) 211 (B) U4l 418 -l

210. GURAHT sWAL ULs (0L DA WAL 53 / suL s [ ausdl 0/ Al e ?
1. sUiA-il WisA U218 50-75 Al aAe 73 8.
2. swaHL wsA 21-30 320l A, Guadiu o390 9.
3. swiatr wisA G4 s1oll ol o391 € 2 ustuG dan siudl orHlmi uL Gofl as 69,
(A)1,2x43 (B) $5d. 2 241 3
(C) $5d 121 3 (D) $5d. 1241 2

211, DA VA 5y [t / Qe esdla 8l Wl 21 e Wt e 0 /i 8 ?
(A) AU L - 4 2 2214l Akl @bl L €,
(B) 3% 5 HRL USLHL AL 25 0 L AdHidl uuR 21 8.
(C) (A) 21 (B) tid
(D) (A) 244 (B) U4l 18 el

212, DA YE su N30 ALY Id A3AHL e 69 ?

1. 28 Al — cuRaqug 2. oll=3lL — 2[R0

3. 20l — iU 4. w1k — Griuga
(A) 1,2 324 (B) $5d. 1, 2 ¥ 4
(C) $5d 21 3 (D) $5d 1 21 4

213, NAWUA 53 / sun Qe / Q- FIRAHD 18R suoid 012 / 021 69 ?
(A) 195141 GURAMI 0] AHRAL € 8.86%6 Sl
(B) 201141 GuRdHi -0l AL € 65.46% Sdl.
(C) (A) 21 (B) i
(D) (A) 211 (B) U4l 418 -l
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208.

2009.

210.

21.

212.

213.

Which of the following statement(s) is/are correct regarding Soil Erosion?
(A) Wind Erosion — it is significant in arid and semi arid regions

(B) Sheet Erosion and Gully Erosion are the two types of Water Erosion
@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statement(s) is/are INCORRECT?
(A) Arabian Sea branch blows over Arabian sea and enters Indian landmass.

(B) Bay of Bengal branch gathers moisture from the Bay of Bengal and strikes Myanmar and
South east Bangladesh.

(C) Both (A) and (B)
@ Neither (A) nor (B)

Which of the following statements is/are correct regarding cotton crop in India?
1. Cotton crop required average rainfall of 50-75 cms

2. Cotton crop required 21-30 degree centigrade temperature

3. Cotton crop required Deep black soil, it grows even in alluvial and laterite soil
(A)1,2and 3 @2 and3only

(C) 1and 3 only (D) 1and 2 only

Which of the following statement(s) is/are correct regarding national highways and
waterways?

.National Waterway 4 is the longest waterway in the country

(B) Out of initial 5 national waterways only one waterway is going through Gujarat
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following pairs are correctly matched?

1. Toda Tribe — Tamil Nadu

2. Bonda — Odisha

3. Onge — Andhra Pradesh

4. Agariya — Uttar Pradesh

(A)1,2,3and 4 .1, 2 and 4 only
(C) 2 and 3 only (D) 1and 4 only

Which of the following statement(s) is/are correct regarding literacy in India?
(A) In 1951 India’s literacy rate among women was 8.86%

(B) In 2011 India’s literacy rate among women was 65.46%

@ sBoth (A) and (B)

(D) Neither (A) nor (B)
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214.

215.

216.

217.

218.

219.

220.

221.

QR A1 WAL s el Wtla, euHiRll dlal 214 wv ol [Rs oa wi o ?
(A) g 24 [AsionR [guays (B) ela Aling
(C) elaaL ulzam vioun (D) Gu2 Uhld 416 -8

A A suLvlod qRas wss Aa-uniel wofl 2ud 9 ?

1. G saud s13 dlvis 2. ity 3. g
(A) $5d 1 241 2 (B) $5d 2 ¥ 3
(C)1,241 3 (D) $5d 1241 3

A=A WS s 9351 aleu Ad Alal Rl ?

(A) ABHSLA 2530211 — vi3 udd (B) st2iuigll — rausuyudl udd
(C) [=3% — 313 udd (D) A1) — 2w uda

A2 W) opornd-i st LBrecuni auredl 2002 wHdl vienll ol Hize nHewi Al © ?

(A) 529 (B) Gua-oLR

(C) M3 (D) Gu2 U4l 5i¢S uwt Al

A Bl (gou gl - s AR[EUA) vid e1ul L 12,00 AUl iy, Ud, yedl-l 244 245 (oM
alst 2Ry AHU Yoot AR+l AL 6.00 saus Yldl gl dl d gout-l i ...

(A) 45 [320 ulaw (B) 45 [330l yd

(C) 90 (320 uln (D) GuR U4l 5i¢ uw Al

A2 W) 56 el dril agul ol avid [Ayagr A wR 53 69 ?
(A) uSd (B) sl (C) uSHR (D) HHAA

Ay 3L BuRAouAL @noL oistdl A1 uddin wEane yd drs ordl L s1Hi olsal.

(A) AFHSIA, H8I2d, AsE 211 A dlusu (B) edluvn, Hsd, Heled A AGHSIA
(C) Adluo, H8I2a, HsA A AWUSIA (D) GuR U4l 5i¢ uwt Al

MIRATL BRAAH ~uALEd suotd - U4 su [Qau-l i ¢ ?

1. Auenl €35 S Aol uedl nuldl s g5 R Badu - ~flad d1-l sial
Gudl £2 531 as -lS.

2. 8151 Bull €2 sl Melld 2 €35 98 d Al & ue vl sigHAAL daL d 28 812 A
Hel AUAUR ML 2L 6 gdluial AeAi-] etgHdl-l 2 s sial A4,

3. GdH ~A1au-l sidadl 2 2109 w2 [RElHiy S1d qaHl 214 6.

4. BRuaH a2l a3 sigl dudl 3l S vt ulsd 2t BRdH ~uau [RiaH
SUES uRL RpALAUHE Al SIS ATESIR AHa s1Hser 53 as 8.

(A) 1,2, 324 (B) Wizt 1 ¢4 2 (C) Wiat 3 241 4 (D)HA 1, 294 3
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214.

215.

216.

217.

218.

219.

220.

221.

Which one of the following regions of India has a combination of mangrove forest, evergreen
forest and deciduous forests?

@ Andaman and Nicobar Islands (B) Southern Saurashtra
(C) South West Bengal (D) None of the above

Which of the following minerals are found in the Dharwar rock system?

1. High grade iron ore

2. Copper

3. Gold

(A) 1and 2 only (B) 2 and 3 only .1, 2and3 (D) 1and 3 only

Which one of the following pairs is not correctly matched?
@ The Rajmahal Hills — The Block Mountains

(B) The Cotopaxi — Volcanic Mountains

(C) The Andes — Fold Mountains

(D) The Nilagiris — Residual Mountains

Which one of the following districts of Gujarat has recorded moderately larger area under
salt affected wasteland?

(A) Kutch .Bhavnagar (C) Bharuch (D) None of the above

If it is 12:00 noon at Greenwich (prime meridian) but at a place in other part of the Earth,
people are taking bed tea at 6:00 am local time. The meridian of the place is

(A) 45 degrees west (B) 45 degrees east
@20 degrees west (D) None of the above

Which of the following rivers crosses the Equator twice in its flow?
(A) Nile @congo (C) Niger (D) Amazon

Find out the correct sequence of hills from West to East that constitute the Satpura range.
(A) Rajmahal, Mahadeo, Maikal and Rajpipla

(B) Rajpipla, Maikal, Mahadeo, and Rajmahal

@ Rajpipla, Mahadeo, Maikal and Rajmahal

(D) None of the above

Which of the following statements are correct regarding Supreme Court of India?

1. A Judge of the Supreme Court cannot be removed from office except by an order of the
President passed after an address in each House of Parliament.

2. The motion of removal supported by a majority of the total membership of that House and
by a majority of not less than two-thirds of members present and voting.

3. The proceedings of the Supreme Court are conducted in English and Hindi only.

4. A person who has been a Judge of the Supreme Court is debarred from practising in any
court of law or before any other authority in India except Supreme Court.

(A)1,2,3and 4 .1 and 2 only (C) 3 and 4 only (D) 1, 2 and 3 only
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222.

223.

224.

225.

RURAHE Augly wudl ouotd Al W s [Qan-l i 9 ?
1. 1952 Yl cuRd-l 20lAaiq e 2 511 2B AAE s s sdl.

2. [A8u5 3 ¥ MiRArw 2s-ld §3 (Consolidated Fund of India) #ig W s2aug ad Sid, d urguld
(Qznieu s HIG A MAHEL 530 A Sy, dl Aue- sinidl 516 AsHidl uaR 53 asw A&,

3. 28 AL UAGL 28] 81U 28 gIRL UHIBA scuul 2uddl disusri 20 Al
ol AUl Und 24 el 21u81dL 53 69,

4, uuuld ¢ waoy aeuuldd slkerdul acuuld gi2l uHilEd sami 2uddl A 10
AU oirel Gu-uculd Und 2 el gL 52 9.

(A) 1,2, 324 (B)MAA 1, 2 ¢4 3
(C) WaA 3 24 4 (D) {1 244 2

A UL s [Qenl 2 Ae 244 A% a-L A6iEl cuoid YAl 201l e ¢ ?

1 dadl 9 Azl AR Ald, 2quRd g2l 20 {8l Hie 2umd slesil srigadl
§3512 sl olotd-l [QR.

2. uHadl YR s1ae1AH cloidul A2 AU AALS - YA Al SaAUS B.

3. Aawadl Yed A uin avl Wl YRR 53 9 24 daiia ueare sadl At A Smui 86l
A1+ S2A(SA gA1R Sl A AS A,

4. L PR 1L QUIAS 521581 AL vALE B $ALHL Bl
(A)1,2 3214 (B) WA 2, 3441 4
(C) 12 3 ¢ 4 (D) WAL 1 14 2

MURAHL BusR (Cess) Aleal w1 d- Gaiadl suoid 411 WA 53 [Aan-y/sa (Al /0 9l ?

1. Bus? (Cess) ¥l MuRdrl s $3ui o ad a3 -8,

2. MR U 2UA10L 2 a2 A% 22 Gus-l adurll buoid HAHRL 53 €.

3. BusR 12 MR- 2A5[Rd esindl e g und st Gef scmi 2uagh 241 Reuadi 2uqsl.
(A) 1,2 x4 3 (B) WA 2 ¥4 3

(C) WA 3 (D) HiaL 1 244 2

ALsAMLAU H1eaa oiotd DA W4 sy s [l i 6 ?

1 o8 Slal Budl £ SaUmL 6AA YR sAL BRAML 2oL tie9L 30 [Baudl A1l 2uudl
52UId 9.

2. disAu™irl mia 84 uld (General Purposes Committee) 241 $148L AR 24 s1u81-1 agual
S6U 51 53 69,
3. 2419 (21 YL ALSAHIAL AUA UlALU S HABL-IL UL 6L auid sul 8.

i
4, »8 Rl [Qgasd uHBld 52 9 2 2 ouotd-l vilan Aela 4 9 5 4 [Q8usyi 5O waisla
SUoLdL 89 § %L S1IRQL AlsUMA dHL (A AT 69,

(A) 1,2 324 (B) Wi 2 ¢ 4 (C)|at 1 241 3 (D)HA 1, 294 3
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222.

223.

224,

225.

Which of the following statement(s) is/are correct regarding the Parliamentary system in
India?
1. The Constituent Assembly of India worked as Provisional Parliament till 1952.

2. A Bill which involves expenditure from the Consolidated Fund of India cannot be passed
by either House of Parliament unless the President has recommended to that House.

3. Panel of Chairman consists of 20 members of Lok Sabha nominated by the Speaker to
preside over the House in the absence of Speaker and Deputy Speaker.

4. Panel of Vice-Chairman consists of 10 members of Rajya Sabha nominated by the Chairman
to preside over the House in the absence of Chairman and Deputy Chairman.

(A)1,2,3and 4 (B) 1, 2 and 3 only
(C) 3and 4 only @1 2and 2 only

Which of the following(s) is/are the recommendations of Punchhi Commission on Centre
and State relations?

1. The concept of rotation of reserved seats for Scheduled Castes, Scheduled Tribes and
women in Panchayat Raj Institutions.

2. Centre must consult the States while legislating on matters in Concurrent List.

3. Governors should be given a fixed tenure of five years and their removal should not be at
the sweet will of the Government at the Centre.

4. The Concept of ‘Localized Emergency’ was introduced by the commission.
@1.2.3and4 (B) 2, 3 and 4 only
(C) 3 and 4 only (D) 1and 2 only

Which among the following statement(s) is/are INCORRECT regarding imposition and
collection of the Cess in India?

1. The cess does not get credited to the Consolidated Fund of India.

2. The Finance Commission of India recommends for the distribution of the cess between
the Centre and States.

3. A dedicated fund outside the Consolidated Fund of India will be created and maintained
for the Cess.

@1.2and3 (B) 2 and 3 only (C) 3 only (D) 1and 2 only

Which of the following statements are correct regarding the Speaker of the Lok Sabha?

1. It is also mandatory to give a minimum of 30 days’ notice of the intention to move the
resolution for the removal of the Speaker.

2. The General Purposes Committee and the Rules Committees of the Lok Sabha worked
under the chairmanship of Speaker.

3. Till date, the Speaker of the Lok Sabha has exercised his unique casting vote for
two times.

4. Speaker certifies Money Bills and decides finally what are money matters by reason of the
Lok Sabha’s overriding powers in financial matters.

(A)1,2,3and 4 @:2andsonly (C) 1and 3 only (D)1, 2 and 3 only
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226.

227.

228.

229.

230.

duglu ARzl suorani Da-n W8 sy [Qa/sa [l 2 /a0 6 ?

1. 28R (Rt uAld 2 dAlsAMHU 2428 gL UHIEA Ml 2uda alsusui 15 aeRai- oRdl
Siy 69,

2.9 516 ued A 5185 ARAni G2 oue Holl adls Fysd 2 dl d 20 [Rylsad alued 21 aFffa-n
e ddls 2l a5 A8,

3. viua 6 22 vl AFfAniddl s 250 A@la-n A9 a3 [Augs s2 9.
(A) WA 2 (B) {1t 1 244, 3 (C)1,2413 (D) WA 2 ¥4 3

als sierad (gl Qa1 U4 sy [Qamysa (sl 0 / i o ?

1. A% S1Al A AU 249 2170 S17-Al A A4 ALs A11AdH] sraudl 53 69,

2. sl A urlEsi AlRUH Ssn dlsAelddiqa AURS %590 AT el €9,

3. A uESIRL A Als veld-u [Relud) Agre 4 Sia dl wat i [Reiudl [43g 2rdla 2490 516 Aaas 9l

4. dis el AeAL eF 512 1A QRS A3 Sl dLl3H] o S1a 8w dn-l SIS ~ulRs eylais
Sldl Al

(A) 1,2, 3214 (B) WA 2, 344 4 (C) WiaA 3241 4 (D) H1AA 1, 2 ¥ 4

73 W AlAaq Yl vEMAuM 2090 A2 A4 5y [z @l =) /0l 8 ?
(A) %A oilEd A [z n-l ezl S HI2 d A HHAHT I dal 51 s1ag1dl 2aad Ssn

Y

dd ddl Ad dlRaus 6AAA S1A dl d YALUAAL AL HIS AEUUS ARUAL.

(B) siSurt culsa oA d visdla arl-l Gua-l a4 as id di d ulsd udla auel 206 Gu-l € d sRal
d= dleus sudl asal AlE.

(C) (A) 211 (B) b
(D) (A) 21 (B) U4l i8S el

19471 MR adAdL AU (gl D21 U sy [Qamy/sa (sl 00 / i 6 ?

1. Al gL A U sAlad AUele 2y 241 91a-R gmaxl Ao s3.

2. 9192 el [Ang)s 1 [Bal2a 9 g1 Al Hl {30 Aas-Yart 204412 s2AHI 2nadl 8dl
3. d (AARUNA) CuA IR AR 2124l UWBAHE st weHl adsd 2udl gdl.

4. - (GlMARuHA) 850 1950 YH 082 Aast (edl sH2a) Dl [Angls sau-l g L.

(A) 1,2, 304 (B) WA 2, 3441 4 (C)HaA 1, 2214 3 (D) {12 3 241 4

ailaan aeudl DA catddl af@fazi WA 585 alla/alaz aiou Ad Asadl o ?
1. vidlu oitRe uld — 181 uea

2. Yoy A5 Y2 uEla — .00l (G-l

3. gl 2L ARlQ — 21054 A51R vur

(A) WAt 1 (B) 1,213

(C) {1 244 2 (D) Wat 1 244 3
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226.

227.

228.

229.

230.

Which of the following statement(s) is/are correct regarding the Parliamentary Committees?

1. The Public Accounts Committee consists of 15 members from Lok Sabha who are
nominated by the Speaker of the Lok Sabha.

2. If a member, after his election to the Committee is appointed as a Minister, he ceases to
be a member of the Committee from the date of such appointment.

3. The Chairman of the Committee is appointed by the Speaker from amongst the
22 members of the Committee.

@2 only (B) 1and 3 only (C)1,2and 3 (D) 2 and 3 only

Which of the following statement(s) is/are correct regarding the Lok Adalats?

1. National Legal Services Authority and other legal services institutions conduct
Lok Adalats

2. Lok Adalats have been given statutory status under the Legal Services Authorities Act

3. If the parties are not satisfied with the award of the Lok Adalat, though there is no provision
for an appeal against such an award.

4. The Members of the Lok Adalats have the role of statutory conciliators only and do not
have any judicial role.

.1, 2,3and 4 (B) 2, 3 and 4 only (C) 3 and 4 only (D)1, 2 and 4 only

Which of the following statement(s) is/are correct regarding 73rd Constitutional
Amendment Act?

(A) A Panchayat member shall be disqualified by or under any law for the time being in force
for the purposes of elections to the concerned State Legislature.

(B) No person shall be disqualified on the grounds that he is less than 25 years of age, if he
has attained the age of 21 years.

@ sBoth (A) and (B)

(D) Neither (A) nor (B)

Which of the following statement(s) is/are correct regarding Indian Independence Act
of 19477

1. It abolished the office of Viceroy and provided for a Governor General.

2. The Governor General was to be appointed by the British King on the advice of dominion
cabinet.

3. It granted freedom to the Indian princely states either to join India or Pakistan
4. It continued the appointments of the Civil Servants till 1950.
(A)1,2,3and 4 (B) 2, 3 and 4 only .1, 2 and 3 only (D) 3 and 4 only

Which of the following committees of Constituent Assembly is/are correctly matched?
1. Provincial Constitution Committee — Sardar Patel

2. Fundamental Rights Sub Committee — JB Kripalani

3. Minorities Sub Committee — Abdul Ghafar Khan

(A) 1 only (B)1,2and 3 .1 and 2 only (D) 1and 3 only
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231.

232.

233.

234.

235.

-

A2 W) 56 AlAlad Al d 2uaRd Yaois vaadl 2141502 sul gdi ?
1.2, 5. aR ARl

2.%. 4Ll afld

3. 53¢ el Al

(A) WAL 1 214 2 (B) 1,21 3
(C) WaL 2 411 3 (D) WAt 1

A1 U4 56 alsa AAaell g2l HuRd uRURs als i asw ?

1. Rdla Holl Al s 5 o el 21220 sul uddini ud adl Y cudHi 0H- R a3
8l 2udl Sl

2. MR URURS Sl ddl calsdai-u w2l sunsi.

3. Yvd ausll 14 dloudl 421adl calsd 5 % il 206 en auefl turd-u [a2ell walRs sis wirs adls
AAY Sl

4. MRdla yll ulsd 5 % 2lAcud FiRd-l s s16 22§ a0 amea Rl ia.

(A) 1,2 324 (B)W 1, 2 ¢ 3 (C) WA 144 3 (D) {1 1, 2 A 4

SIUEL UHEL AHIALALU UALE ouoid, 1A UL sy [Aay/san [t 0 / i e ?

(A) ruld 2 Arawd [A3g dunl Slal Yed g3 1S ua us-l sieidl seiadl widl
asel &

(B) 51§ ul5d Aue-l 518 unl srdcudl-n arda: w2 8-l aduiuani Wl Aoivui 518
_uaaul sid el glaidl 5 siereidl siiadl s ag €.

(C) (A) 211 (B) b
(D) (A) 211 (B) U4l 418 <l

MURAHL EWS 801l A-iHaniell cusid uiaill uoiaui a4 W4 sun [Qauil i ¢ ?

1. 9 518 Ut s 10 2452 2 Al ay vidl-l gl dad sl

2.1000 L. §2 21 a9l Y AA50 4R1ad] QASU $A2 YRAAL SIA

3. A1 912 wlAsHl 100 Al A1 27 ddl ay &5 dRAAdL QAU W2 YRAAAL S,

4. AA5183 2R wilast R &14i 200 Al w8 21 dell ay #xA50 H1ad] RIS W2 4R1ddL Sid
(A) 1,2, 324 (B) Wi 2, 3441 4 (C) WiaA 3 241 4 (D) "L 1 241 3

RURAHL YN 851 olotd DAL WSl s [Qan-l i ¢ ?

1. 2 29¢ 33 3 @53l S1uEIA GRAdH a2 adl elddHl D2 2UEs1R axml Alde sqau 8l
2. 4253) SIUELAL vUA L GIHIRRIME SUTUL AaRd 534 .

3. agsdl s1ugl dleandll Yoy 5l uR SIS w1UR 48 A AlE.

4. 4253 SIUEL A 2AU SIS ALs5U LML S uTd AU BAHT AlEumi 2ud O,

(A) 1,2 324 (B) Wi 2, 3441 4 (C) {1 244 2 (D) {12 3 241 4
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231.

232.

233.

234.

235.

Which of the following committees rejected the idea of Linguistic based reorganization of
the states?

1. SK Dhar Committee

2. JVP Committee

3. Fazal Ali Committee

.1 and 2 only (B)1,2and 3 (C) 2 and 3 only (D) 1 only

Who among the following persons can register as a citizen of India by Registration?

1. A person of Indian origin who is ordinarily resident in India for seven years before making
an application of registration.

2. Minor children of persons who are citizens of India

3. A person of full age and capacity who has been registered as an Overseas Citizen of India
cardholder for at least 10 years.

4. A person of Indian origin who is ordinarily resident in any country or place outside
undivided India.

(A)1,2,3and 4 (B) 1, 2 and 3 only (C) 1and 3 only .1, 2 and 4 only

Which of the following statement(s) is/are correct regarding Exception of Equality
Before Law?

(A) No Civil proceedings against the President or Governor shall be instituted during the
term of office.

(B) No person shall be liable to any civil or criminal proceedings in any court in respect to the
publication in a newspaper of true report of any proceedings of the Parliament.

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding the exclusions under EWS
reservation in India?

1. If any person has 10 acres of Agricultural land and above.

2. Residential flat of 1000 sq. ft and above.

3. Residential plot of 100 sq. yards and above in notified municipalities

4. Residential plot of 200 sq. yards and above in areas other than notified municipalities.
(A)1,2,3and 4 .2, 3 and 4 only

(C) 3 and 4 only (D) 1and 3 only

Which of the following statements are correct regarding Fundamental Rights of India?

1. Article 33 can also exclude the court martial from the writ jurisdiction of the Supreme
Court and High Courts.

2. The concept of Martial Law has not been defined anywhere in the Constitution.

3. Imposition of Martial Law will not affect the fundamental rights.

4. Martial Law will be imposed to the whole country, not to any particular part.
(A)1,2,3and 4 (B) 2, 3 and 4 only .1 and 2 only (D) 3 and 4 only

[PSP] m
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236.

237.

238.

239.

240.

esuAlla-u Heteas Rigial sustd DA W4 sa [Qan-l 0l o ?
1. 2l 6l i Ad dudld waRst 12 o gell-u e sl et 530 sdl R~ 24 (B,
2. Byl Mennal e Aesu-Alla wete s Rigial 24 siRmi uulaw sami 2ul.

3. M e suul Gradu gl aillid 534 5 yued 85l Bur Hwledls Rigidlg ada 2
SpRejrRellu €.

(A) 1,243 (B) HAA 2 ¥ 3
(C) {1 241 2 (D) Wat 1 241 3

cuRdl siaqu el ulsan ouoid QA0 WAL 3 [Qa-y/sa [Qaunl 02 /01 6 ?
1. sl FauRidl wlEa-l mas Aue xaa A% [Quznn o 530 as.

2. yaRen [A8us v wa {Alul gL o erma 53 asi.

3. dlasn-l sedls o -l Yo 12 curdr vgula-l yd Hogdl 2uasus .

4. 02uld vitiel Yareu [A8us viqHie 2ug o u3, d 20 [A8as 4 225dl a5 8 3 urd
Hisell us 8.

(A) 1,2, 314 (B) Wist 2, 3 441 4
(C) 12 3 ¢ 4 (D) WA 4

A2l WA 53 agra 2 cudla AlQain-i Yeid Wi L 3y el ?
1. = W2l AARIRS YU (Effective Access to Justice)

2. 2l A5l 21 203l

3. dlaan-l yareu e Aue-l Hullzd a

4. Q$a91d, QAL 244 3iRAL.

(A) 1,2, 3214 (B) M 2, 34 4
(C)HA 1, 24 3 (D) WAL 2 241 3

28 - AU QAL ACiEL onotd AL UL s [l 00 ?

(A) HIAL g % arRl- we s s1ueL (Extra territorial legislation) et-iidl a5 €9,

(B) AuE- SLUEIA MRl ARURSL 24 du-l [Agami 515 waL oo 28l [Masd A audyul 6.

(C) AU 2144 A s AANL AUEA AR RUH ARy ULl dal 202 sl At AZAWA 4219 8.
(D) Gu-L dHIH

§1MQ MuRAl Al suetd A UL sa (Al il o ?

1. b1ty Autl GuR vildu (R e Sl 6 sl A% A c@ld [RAR 4219 6.
2. 194741 WA 61 % AME MURAl Al 8l Al Adl IR 61e A3 sAH 2udl.

3. ALSAMLL SAA 2R AU Al 2AMBQ GuRdld Al A3 sa-l AT 9.

(A) 1,243 (B) {A 2 ¥ 3

(C) | 1241 3 (D) {1 244 2
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236.

237.

238.

239.

240.

Which of the following statements are correct regarding Directive Principles of State Policy?

1. Shri B. N. Rau has recommended for the two categories of rights for Indian Citizen,
i.e Justiciable, Non-Justiciable.

2. With the above recommendation Directive Principles of State Policies are incorporated in
the Constitution.

3. In Minerva Mills Case, Supreme Court has declared that the supremacy of the Directive
Principles over fundamental rights are unconstitutional.

@1.2and3 (B) 2 and 3 only (C) 1and 2 only (D) 1and 3 only

Which of the following statement(s) is/are correct regarding the amendment procedure of
the Indian Constitution?

1. An Amendment of the Constitution can initiate in the Parliament and State
Legislatures only.

2. The Amendment Bill can be introduced by the ministers only.

3. Some provisions of the Constitution required the prior permission of the President of India
for amendments.

4. The President must give his assent to the Constitution Amendment Bill, he can neither
withhold nor return the Bill.

(A)1,2,3and 4 (B) 2, 3 and 4 only (C) 3 and 4 only @4 only

Which of the following features is not part of the basic structure of the Indian Constitution?
1. Effective Access to justice

2. Unity and Integrity of the nation

3. Limited power of the Parliament to amend the Constitution.

4. Freedom and Dignity of the Individual

.1, 2,3and 4 (B) 2, 3 and 4 only (C)1, 2 and 3 only (D) 2 and 3 only

Which of the following statement(s) is/are correct regarding the Centre-State relations?
(A) The Parliament alone can make extra territorial legislation.

(B) The laws of the Parliament are also applicable to the Indian Citizens and their property in
any part of the world.

(C) The Governor is empowered to direct that an Act of Parliament does not apply to schedule
area in the State.

@A of the above

Which of the following statements are correct regarding All India Services?

1. The ultimate control on All India Services lies with the Centre while the immediate control
lies with the State.

2.In 1947 only two All India Services were there, the third one was created later.

3. Parliament has authority to create new All India Services on the basis of resolution of
Lok Sabha.

(A)1,2 and 3 (B) 2 and 3 only (C) 1and 3 only @1 2and 2 only

[PSP]
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241.

242.

243.

244,

245.

idR U513 520 @udwil (Inter-Government Tax Immunities) eiietd 12« W41 sau [an-l i €.

(A) Al Rasd Ao 2aan Asdnl S8 AR 611 AgUHT 20l dHIH SR 54 454
CCRI DRSS

(B) uig Azu-ll Masd 214 2uasq da-u saAguiEl Ylsa wadl .
(C) (A) ¢4 (B) bid
(D) (A) ¥t (B) U4l 418 -l

AU s2152H1 Geatuaw suoid A ULl sun [Qan-l i e ?

1. AUEU SIUEL GIR1 ALSAMLD HEd s AHA drll AHIRL HEd 5l 28 adl W2 dond) asiu 8.

2. AlSUMLL SIS A HUEHL SIAEL GIRL AYHE Ay 3 adl W2 dondl asia 6. (s und 15 an )
3. 52158l Y3l A AU e ALsAMIAL S1ls1 69 el ay Anuoum W2 204, ) w3 Al8.

(A) 1,244 3 (B) WA 1 ¥4 3

(C) {1 2 21 3 (D) M1 1 244 2

@R guladl el suetd Al WL sa (Qa-l i o ?

1. a2l 2aon dd, turdA egulda- zellui GHgaR euld s 421 2iadl e HdeiR
43t (Electoral College) Hi 50% + 1 Hd Huaal ¥3<L €.

2. guld-Al el 8 sl drm usHl 20 [Aagi-l awd 24 [Aela 21 el gl sami
204 €9 B+l [Rely 20 deuy 8.

3. HdgR 43N (Electoral College) 443 €d, d 2R U 516 wa lsa-l aiguld a3l 24esll 24
wssidl asiy AL,

(A) 1,241 3 (B) 12 1 241 3
(C) 1A 1 244 2 (D) 1A 2 21 3

A2 W 53 you 2 Rl Ald Ay [ AsEdal & ?

1. [Rug [RalEsR (Absolute Veto) — [dai- 330 g2l WlRd saumi »udd [dasl ol x12s1dl
wdl,

2. 2l [AuAs1R (Qualified Veto) — d [Atut Hso g1 AR eigudlell Auaiudl as us.

3. [Rdiorn - w8l [RRalEsi2 (Suspensive Veto) — di [ {30 gi1 Mid sigHdlell uatul a8 as.

4. vl AR (Pocket Veto) — d A gIRL 2/3 tigHl dHo 4341 AU H 1L AUl a8 a3,

(A) 1,2, 324 (B)W 1,2 ¢ 3 (C) {1 244 2 (D) "1 4

@Rd U251 solldz ARl (e N2-u W sy [Qan/sa (Al 0 /i e ?

1. 56012 ulfai ol sl gl 6. 2l afld 214 aed Al

2. 2ill A2 oitnellu 8 ol ded af@laxi dulAs ©.

3. eguld gru sl ues g 20 ARl 21w 8.

(A) WAt 1 (B) Wizt 1 ¢ 2 (C) 1,243 (D) "L 1244 3
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241.

242.

243.

244,

245.

Which of the following statement(s) is/are correct regarding the Inter-Government Tax
Immunities?

.The Property of Centre is exempted from all taxes imposed by a State or any authority
within a State.

(B) But the property and income of a State is not exempted from Central taxation.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding the proclamation of National
Emergency?

1. The Life of the Lok Sabha may be extended beyond its normal term by a law of Parliament
for one year at a time.

2. The Tenure of Lok Sabha can be extended up to 3 years of period only by law of Parliament
(one year at a time).

3. The extension of the tenure of the Lok Sabha cannot continue beyond a period of
6 months after the Emergency has ceased to operate.

(A)1,2and 3 @1 :2and3only (C) 2 and 3 only (D) 1and 2 only

Which of the following statements are correct regarding the election of Indian President?

1. Unlike general elections, in the election of President of India the candidate needs 50%+1
votes in electoral college to get elected as President.

2. All doubts and disputes in connection with election of President are inquired into and
decided by Election Commission whose decision is final.

3. The election of a person as President cannot be challenged on the grounds that the
electoral college was incomplete.

(A)1,2and 3 .1 and 3 only (C)1and 2 only (D) 2 and 3 only

Which of the following pair(s) is/are correctly matched?

1. Absolute veto — Withholding of assent to the Bill passed by the legislature

2. Qualified veto — Which can be overridden by the higher majority by the legislature
3. Suspensive veto — Which can be overridden by the legislature with ordinary majority

4. Pocket veto — Which can be overridden by the Parliament with 2/3 majority and half of the
States.

(A)1,2,3and 4 @. 2 and 3 only (C) 1and 2 only (D) 4 only

Which of the following statement(s) is/are correct regarding the Cabinet Committees of
Indian Government?

1. Cabinet Committees are two types, i.e. Standing Committees and Adhoc Committees.

2. The Standing Committees are constitutional where the Adhoc Committees are statutory.
3. These committees are set up by the President on the advice of the Prime Minister.

@1 only (B)1and 2 only (C)1,2and 3 (D) 1and 3 only

[PSP] E
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246.

247.

248.

249.

250.

alsueil a1 200 Da-u W4 sy [Qanqysu Qa0 /i 8 ?

1. 42w simRellu YRl wAEAUR 1976 21 1971l ardlomdli 2uaR Asdid dlsueidl olssi-l
sinagll YRl 59

2. U1 2001+ 8441 YuRirll AMARUH vgA1R ay 25 avl W2 d YRR sami 2udl.

3. 87+ oitnellu YR AlRUH 2003 24 200141 azdl @i 2uai? [Raia- asg Aluis sag
IR

(A) WAt 3 (B) Wizt 1 ¢4 2 (C) WiaL 2 241 3 (D) 1,243

SIS culsa 2 AL LR A3 F2ladl W2 SRAIUS AU D A .......... .

1. M1 A1 AU A% AR 8611 6llo 516 Al £1us glal wuadl siu.

2. d Y5d S sddl UER iU

3. dl dell A1 BHI AU 24191 25% F2ll (81 qRradl iu dan [Ramul [Rums xaqa aqaus
292 d3l3 Ul SlElL HRAddl A Slal ASHL.

(A) 1,244 3 (B) Wi 2 ¢4 3 (C) {141 3 (D) {1 244 2

(At Hsnui slag (double) ueuauel sustamt Al WSl sy [Qa/sun [Qansl ) / i & ?

1.9 515 ulsa Auenil vid AL AER dZl3 urie A dl ddl/delll uld su1 dAsHi Alac 249 ¢ d
30 [Bau-l vieR aauad ui.

2. % d 2udl 2R s [Ausn o dl d-l asaaedl A2 wud il

3. 518 culsa AsHi 6l tiss Budl 21 S1d dl ARl 518 s tissil [Aseu suua-l 289 Ht-ua vin
i st vitefl uddl aweual.

(A) 1,241 3 (B) A 2 44, 3 (C)WA 134 3 (D) WA 1 14 2

AAUSHL Wdta cueid DA WA st [Qau-l aioy Ad a9 ?

1. UTil YAS Udld (Substantive motion) d 2c2 Ut ad =L £2u11d €9 & % Avuld U Hell®uia 3l
2[d HeTadl custd A Ao 6,

2. 149 Udld (Substitute motion) d 2% HN Udlarll AALUT AALAAUHT AUl HAD UL 8 21
d Ha Wdla [Aseudl v 53 9.

3. AHUA Ul (Closure motion) d Udld S| AR gIRL ASHI S8 HEL UR AAIA Zstal HI2 sAUMI
2l Ul €9,

(A) 1,243 (B) Wis 2 %11 3 (C)H1AA 1 ¢4 3 (D) WA 1 14 2

dugui [Q8ust cuotd A U4 56 Al diou Ad Azl © ?

(A) A5 [A8us (Public Bill) : d-l 284l srma s W2 14 Bax-l Adla 3 8.
(B) [Bit 2514 [A8us (Private Bill) : d-l gl era s W2 1 1l -ull A o33 .
(C) (A) 211 (B) bid

(D) (A) 211 (B) U4l 418 -l
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246.

247.

248.

249.

250.

Which of the following statement(s) is/are correct regarding the composition of the
Lok Sabha?

1. The 42nd Constitutional Amendment Act 1976 froze the allocation of seats in the
Lok Sabha to the states at 1971 census level.

2. This was again frozen by the 84th Amendment Act of 2001 for another 25 years.

3. 87th Constitutional Amendment Act 2003 provided for the delimitation of constituencies
on the basis of 2001 census.

(A) 3 only (B) 1and 2 only (C) 2 and 3 only .1, 2and 3

A person shall be disqualified for being elected as a Member of Parliament if
1. he holds any office of profit under the Union or State Government.
2. he is an undischarged insolvent.

3. he/she must not be a director or managing agent nor hold an office of profit in a corporation
in which government has at least 25% share.

@)1.2and3 (B) 2 and 3 only
(C) 1and 3 only (D) 1and 2 only

Which of the following statements are correct regarding Double Membership in the
legislatures?

1. If a person is elected to both the Houses of Parliament he/she must intimate within 30
days in which House he desires to serve.

2. If he/she fails to intimate, his seat in Rajya Sabha becomes vacant.

3. If a person is elected to two seats in a House, he should exercise his option for one,
otherwise both the seats become vacant.

(A)1,2 and 3 @2 and 3 only
(C) 1and 3 only (D) 1and 2 only

Which of the following pairs are correctly matched regarding the motions in the Parliament?

1. Substantive Motion : It is a self-contained independent proposal dealing with a very
important like impeachment of the President etc.

2. Substitute Motion : It is a motion that is moved in substitution of an original motion and
proposes an alternative to it.

3. Closure Motion : It is a motion moved by a Member to cut short the debate on a matter
before the House.

.1, 2and 3 (B) 2 and 3 only
(C)1and 3 only (D) 1and 2 only

Which of the pair(s) is/are correctly matched regarding the Bills in the Parliament?
(A) Public Bill — Its introduction in the House requires 14 days notice

@ rrivate Bill - its introduction requires one month’s notice

(C) Both (A) and (B)

(D) Neither (A) nor (B)

[PSP]
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251.

252.

253.

254.

255.

auRdlu ensly aqzaimi (Indian Financial System) 24t tietd Q2 UL 56 A dl/adlai 0l

Ad AR 9 ?

(A) U5 eI : FUR B d A HI2 AUE IR SIS A5 A HI2 S1NAAHE 1A 251 2 1Y) Sl R
UL AGELL HYR SRUHL U 8.

(B) atiug A4elr = Alg sl ad e 1R SIS Adl Al 12 atuRi w sieid w3Ruid Gell
A Sl U HogR s 24 €,

(C) (A) ¢4 (B) i
(D) (A) 21 (B) U4l 518 el

A2 U4 s 208R U WA 2RRUH vlaal sRIeNHL oitela Hidl BRAAH RuAEY, A1
adl Ae1ddn USSRl as 69 ?

(A) d atAs1E] 5 P d- ) €9 d-l Al erg1+ll cuoia €9,
(B) d sitnellu sdras »iiql [des12 sdl gla

(C) (A) 21 (B) i

(D) (A) &1 (B) U4l 418 -l

A UL sun [Qenl 2 [Qanq uRue Al v 244 2201 cuoid WAl @ ?

1. [t uRue-n ucul-l ga Avan dl Azl [Qaiaei- Al ga dvan 248 gdluia sl ay
SROERE

2. [asn uRug - ueul-l ga v 2Aieni 24168 40+ 2841,

-\

3. [Qtn uRue & ueuimiddl 4/6 (A1 &9 sHIW) AGAL UA# Nd LA i 6.
(A) 1,243 (B) W= 2 ¢4 3 (C)HAA 1241 2 (D) HAA 1241 3

s-dlu adladl dui v (Central Administrative Tribunal) eieid -l2-w U4 s (el 20 ¢ ?
1. S1aui AU (uRAHl d-l 17 sl visdlsie.
2. CAT 4 28512 &z =i il A 24 Sl A Yl [Aga .

3. vy yRarRll A1 GRAAH AU 2R 5120 211 sHARNAL AUy Aue-1 ARDauA sH80240
L 2SR A o0 A Ay €9,

4, BRI Eunl adHrt s s1aedr Senrll G AauEsid)l el AN mamei-i
UL CATHL AGAUL 155l saHL 204 €9,

(A) 1,2 324 (B) WA 2, 341 4 (C) | 1, 2 ¥ 4 (D) {12 2 241 3

AH LAl suotd H2A- W4 sa [Qau-i i 9 ?
1. A LAl 2L 0, E 2EAUH 2008 2iddid sl 2udl 9.
2. el Wy ARSI [Ry5dat 0% 4512 6121 adl AE1AAU AAS YA AAIR SRARL 20 6.

3. A Al 2 52l x1814d (Mobile Court) £ 211 d 1613 21 glanll 218144 oi A7l Gyl
sAAs 9.

4. WH aasl olss 3 Prean daiud-l yuu was vid Rad o
(A) 1,2 324 (B)W 1,2 ¢ 3 (C) | 2, 3311 4 (D) "L 1244 3
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251.

252.

253.

254.

255.

Which of the following pair(s) is/are correctly matched regarding the grants in Indian financial

system?

(A) Supplementary Grant - It is granted when the amount authorized by the Parliament for
one service is insufficient for that year.

(B) Additional Grant — It is granted when a need has arisen during the current financial year
for additional expenditure for a new service.

@ Both (A) and (B)

(D) Neither (A) nor (B)

On which of the following grounds the Constitutional validity of a legislative enactment or
an executive can be challenged in the Supreme Court and High Court?

(A) It is outside the competence of the authority which has framed it.

(B) If it is repugnant to the constitutional provisions

@ Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Strength and Composition of
Legislative Council?

1. The maximum strength of the council is fixed at one-third of the total members of the
Legislative Assembly.

2. The minimum strength of the Legislative Council is fixed at 40.
3. The 4/6 (four-sixth) of the total members of the Legislative Council are indirectly elected.
(A)1,2 and 3 (B) 2 and 3 only @1 2and 2 only (D) 1and 3 only

Which of the following statements are correct regarding Central Administrative Tribunal?
1. At present it has 17 regular benches all over India.
2. CAT jurisdiction extends to the All India Service, Central Services.

3. Officers & servants of the Supreme Court and secretarial staff of the Parliament are also
covered under this jurisdiction with special permission.

4. The members of CAT are made on the basis of recommendations of high powered
selection committee chaired by a sitting judge of the Supreme Court.

(A)1,2,3and 4 (B) 2, 3 and 4 only .1, 2 and 4 only (D) 2 and 3 only

Which of the following statements are correct regarding Gram Nyayalayas?
1. The Gram Nyayalayas are established under the Gram Nyayalayas Act of 2008.

2. The presiding officer of the Nyayalayas shall be appointed by the State Government in
consultation with High Court.

3. The Gram Nyayalayas shall be a mobile court and shall exercise the powers of both
criminal and civil courts.

4. The seat of the Gram Nyayalayas will be located at the headquarters of the zilla panchayat.
(A)1,2,3and 4 .1, 2 and 3 only (C) 2,3 and 4 only (D) 1and 3 only
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256.

257.

258.

259.

260.

261.

262.

§4269¢ 371 2iadld A% [ARre (s ol viddld A1 WA sy [Qa-ysan [l 02 / i 44l ?
(A) 21 211269¢ 8ot [Ae @, AlAR A $26941 w1l (A5 s ©.

(B) 211 61 ASAUAIA UAS AW AUE AHA 29 SAUML 24 69,

(C) (A) ¢4 (B) i

(D) (A) ¥t (B) U4l 418 -l

PESA i[8[RuH, 1996 U Sdil tuioid A1 WA 53 [Aan-y/sa (Al ) / i ¢ ?

1. dud 2eid) simedl IXH 2gaRdl saras 2l 21 uiadl 2ug [ daa aoy usdl 9.
2. SlaHi UeR A%l winHl vy &adl 4d ©.

3. dlRa-ug, saizs 21 50 Aol uiadl g as qd 8.

(A) 1,241 3 (B) 1A 2 241, 3 (C) WA 14 3 (D) WA 1

[Fean vl ARl cuoid D21 UL 5y [Qan/sa (a0 /0l ?

(A) [yeen 2uaior Al daiadl 241 1aulasiil g121daiR saMi 2uddl Al 215004 52 9.

(B) e vuaior ARl 4/5 ueaia [Fear daudl 244 1012 U@ sizii-u 2ial aeul g1 il
Sl AS .

(C) (A) 2 (B) bid

(D) (A) 241 (B) USL 518 1l

248 A% &=L (Union Territories) cieid A+ U4l su (At 2ui ¢ ?

1. oA 2 A3RUAA UB2 2 AERA% A Sl B ousHi Yol A2l 3 uRaldq qu.

2. 1961 arui Aglots 2 Aa1oU &t adls el 2y,

3. Wl@yR 1 [Bryy 2 208 o Aol Sdl 3 eugHi Yl A%l a3 uRalda aul.

(A) 1,241 3 (B) {1 2 241, 3 (C)WA 134 3 (D) WA 1 1A 2

D21 U4 56 Adl2l ) Ad Asedl © ?

1. ug9td Ul HIS AU AL — A3, Buiig 27 3 AR

2. M8l e Ardlu puULdL — g, Guiual 2R 4 AR

3. YR 2l Hied, Al 2L — HE, GURIE A 3 UL

(A) 1,243 (B) Wi 2 ¢4 3 (C) WAt 1 241 3 (D) {1 244 2

800 24 1000 a3l s2a1 yeladl yaist © ?
(A)3 (B) 4
(C)5 (D) Bu U4 25 vt 1l

A A oA

14 dlsl 215 adusiz 2eid-l 524 6lsL 9. dl ol AlssA AlSail A3 % oiA d-ll Aeuan 2l ?
(A) 1/13 (B) 2/13
(C) 17 (D) Bu U4l s vt Al
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256.

257.

258.

259.

260.

261.

262.

Which of the following statement(s) is/are INCORRECT regarding Special development
boards of states under Article 371?

.Separate development boards for Vidharbha, Saurashtra and Kutch under this article.
(B) The reports of these boards would be placed every year before the Parliament.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statement(s) is/are correct regarding the objectives of the PESA Act
of 19967

1. The provisions of IX Schedule of the Constitution relating to the panchayats are not
applicable to the Fifth Schedule Areas.

2. At present fifteen States have Fifth Schedule Areas.
3. Tamil Nadu, Karnataka and Kerala are the states which have Fifth Schedule Areas.
(A)1,2and 3 (B) 2 and 3 only (C) 1and 3 only @1 only

Which of the following statement(s) is/are correct regarding the District Planning Committee?

(A) District Planning Committee consolidates the plans prepared by Panchayats and
Municipalities.

(B) The Four-Fifths of the members of a District Planning Committee should be elected by
the elected members of the district panchayats and municipalities.

@ Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding Union territories?

1. Mizoram and Arunachal Pradesh were Union territories later changed as full-fledged
States

2. Chandigarh was declared as Union territory in the year 1961.
3. Manipur and Tripura were the Union territories later changed as the full-fledged States.
@1.2and3 (B) 2 and 3 only (C)1and 3 only (D) 1and 2 only

Which of the following pairs are correctly matched?

1. National Commission for Backward Classes — Chairman, Vice-chairman and 3 members
2. National Commission for Women — Chairman, Vice-Chairman, and 4 members

3. National Commission for Scheduled Caste — Chairman, Vice-Chairman and 3 members
(A)1,2and 3 (B) 2 and 3 only .1 and 3 only (D) 1and 2 only

How many perfect square integers are there between 800 and 1000 ?
@ (B) 4 (C)5 (D) None of the above

14 people sit around a circular table. What is the probability of two particular people sitting
together ?

(A) 1713 .2/13 (C)1/7 (D) None of the above

[PSP]
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263.

264.

265.

266.

267.

268.

269.

-\

25 2+ 400 Hl22 dity 6lloig uR s HI2 24l PRl uHu & 8. %L 21+l dons 100 12z Siu dl
2l h3u sedllesl ?

(A) 55 [33l/scus (B) 58 [34l/s¢cus
(C) 60 [33{l/scus (D) Bu U4 i85 vt 1l

[Rga (264 —268) : A 20Ul (A1l a0 53] UL WAL GTiR WAL

25 uouni & 1200 [Aendlal 2100 53 €. uouni 912@L 6 9l 10 <1 5 QU 8. WOUHL 9154 2R
915902l 2Aval ORITR 7 : 5 69, 41 8 Hi 2/3 [Aenell2Al 915t 8. wou-u g4 [QensdlAl WA 20%
[Qenelltl 4l 7 Hi €9, QiR 6 i e9Ls12A1H) 2vuL 80 €. 4l 8 Hi s& [Aenellil 360 €. i@l 9 wi
915 vl dui L5l vl 5L 125% F2dl O, FUIR LR 9 Ui st v wouni
5& 091532l Avul 5L 20% F2¢ll €. HIRRL 10 Hi 75 691530241 9. HIRRL 7 Hi 6915RAXA AR 91511l
vt dRllTR 23 : 2569,

HIaL 8 Hi 915124\ vt 2 QI8 7 Wi 915324 vl Rl S2al ¢ ?
(A) 48 : 25 (B) 45: 28
(C)24:35 (D) GuR WAl s vl 1l

NN

oA 4iRwL 6 Hi et [Aenefl2Al van 200 €y, dl €106, 7 214 8 -1 g [Qendl2Ail v wou-u &
[Qenellii-l iva-u seqn 26 ?

(A) 48.55% (B) 67.85%
(C) 57.76% (D) GuR U4l x5 yat -l

-

Q1281 7, 8 11 9 L & e9L5AALL AvALfl U212 A I8 6,7 21 8 L g& 91 2AUL vl AL
aslad 22 Seal €9 ?

(A) 48.25 (B) 51.67
(C) 58.97 (D) Bu U4l 2is uat 1l

o 4iR 10 Hi [Aeneflaii-l v 100 Sl di, Qi 8 -l e9isl2Al 244 {ikel 6 Al 91521l Avar-u
Aslad $cl, Q10 10 L E915AU A QI 9 AL 915 AvA1AL dSlad S2al AL 89 ?

(A) 25 (B) 40

(C) 45 (D) GuR U4l x5 yat dl

Q101 7, 8 244 9 Hi [QenellAi-l ga Avan 2l © ?
(A) 925 (B) 746
(C) 825 (D) GuR U4l 215 ya dl

7w uam 21 drsi-l AR sedl wgl ?
(A) 49 (B) 66
(C) 77 (D) Bu U4l s uat 1l
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263.

264.

265.

266.

267.

268.

269.

A train takes half a minute to cross a tunnel of 400 m long. If the length of the train is
100 m what is the speed of the train ?

(A) 55 km/hr (B) 58 km/hr
@50 km/hr (D) None of the above

Directions (264 — 268) : Study the following information carefully and answer the questions
given below:

A total of 1200 students are studying in a school. There are 5 classes in the school from
standards 6 to 10. The ratio of the number of boys to girls in school is 7: 5. In class 8,
2/3 of total students are boys. 20% of total students in school belongs to class 7. The
number of girl students in class 6 is 80. The total humber of students in class 8 is 360.
Number of boys in class 9 is 125% of humber of girls in that class, where the number of girls
in class 9 is 20% of total number of girls in the school. Class 10 has 75 girls. The ratio of the
number of boys to girls in class 7 is 23 : 25.

What is the ratio between the no. of boys in class 8 and the no. of girls in class 7 ?
@:4s: 25 (B) 45 : 28
(C)24:35 (D) None of the above

If the total no. of students in class 6 is 200, the no. of boys from classes 6, 7 and 8 together
form what % of total no. of boys in school ?

(A) 48.55% @sc7.85%
(C) 57.76% (D) None of the above

What is the difference between the average number of boys from classes 7, 8 and 9 together
and the average number of girls from classes 6, 7 and 8 together approximately ?

(A) 48.25 @567
(C) 58.97 (D) None of the above

If the no. of boys in class 10 is 100, the difference between number of class 10 boys and
class 9 boys is how much less than the difference between number of class 8 girls and
class 6 girls ?

(A) 25 (B) 40
(C) 45 @ None of the above

What is the total number of students in classes 7, 8 and 9 ?

(A) 925 (B) 746

@s>2s (D) None of the above
What is the average of first 21 multiples of 7 ?

(A) 49 (B) 66

@7 (D) None of the above

[PSP]
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270.

271.

272.

273.

274.

275.

276.

N

25 uuad-l Audld axsn 1350 Al Hl id dl, d-dl ucls suyll dous sedl eal ?
(A) 5 Hle: (B) 15 Hle=
(C) 27 Hler (D) GuR U4l 215 ya dl

ANy R

oAl Hs uldd 8 [3l/seus -l 33U 24 (34l 14 dl d 25 [lAe HIsLusi 6. ol d vled o »idr 12 33y
sesl 33U A dl S2dl asdl usial ?

(A) 35 [0l (B) 45 [l[Ae
(C) 65 [lR2 (D) Bu U4l s vt ]

g8 2 el 3:1 w24 [@22-u B 8 (@22 wisll GHaumi 2ud 8. di uReud und [fswemi
g 2 welld ue seg 2 ?

(A)7:8 B)7:9

(C)9:7 (D) GuR U4l 25 yat €l

M 2 R 24359 3. 12,000 1 31 15,0007 Ast8L 530 215 caqAqid A3 52 6. Q 5245 A5 520 dull
112 AN 6. B AHA HR A2l HIRASRA 5 O d usH 5 arl, 6ar 27 8 A 6. & A5l 3. 28,382 WA
8 Fuidl R -l ¢ 3 11,106 8. dl Q 2 cucuami s2¢fl 3l A58 53 ¢l ?

(A) 3. 10,000 (B) 3L. 12,000

(C) 3L. 15,000 (D) GuR U4l s uat Al

X vis 514 24 (Bl 21 Y d % $14 36 [2auul 52 9. o X A2 [Bax 511 52 214 31 3,600 HAd, dal
oSl s Y gl YRl s2aumi 2ud dl, Y 21 seen 3u doen ¢a ?

(A) 3L 22,500 (B) 3L. 25,200

(C) 3L. 28,800 (D) GuR U4l a5 uat dl

Y

s ulslds curni 2 ‘RADIOCHEMIST A “TBFIQDJIFOJUU’ ddls dvicudi 2ud di d o uislds
UMHL ‘MICROBIOLOGY $8 3ld @val ?

(A) OIDTQCIQQHZ (B) OKDTQCJIJQMQHZ

(C) OKDTPDJQMQHA (D) Gu U4l s uat 1l

[Re2n : (276 — 279) : 2] [Q21di-l Lt yes e 520 21 -l 2uden ustiqi G »uul.
5 Aislds auruni,

‘speak nicely to all’ i 2i3d “ka cu ma he”

‘all are like us’ -l 2id “sifo he to”

‘teach us lesson nicely” -l 2i3d “po ma fo re”

‘lesson like all humans’ i id “he re gusi” ¢9.

U (UMM “are’ -l i5d sul ¢ ?
(A)si (B) to
(C) fo (D) Bu U4l s uat 1l
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270. If the surface area of a cube is 1350 sq. m, what is length of its each side ?

(A)5m @15 m
(C)27 m (D) None of the above

271. If a man walks 24 Km at 8 Km/hr, he will be late by 25 min. If he walks same distance at
12 Km/hr, how early will he reach ?

@35 min (B) 45 min
(C) 65 min (D) None of the above

272. Eight litres of water is added to 24 litres of a solution containing milk and water in the ratio
3:1. What is the ratio of milk to water in the resulting solution ?

(A)7:8 (B)7:9
@-o:7 (D) None of the above

273. M and R started a business by investing Rs. 12,000 and Rs. 15,000 respectively. Q joined
them with some investment. The time for which they invested their capital is 5 years, 6 years
and 8 years respectively. The total profit occurred from the business is Rs. 28,382 out of
which share of R is Rs. 11,106. Then how much amount has Q invested in the business ?

@rRs. 10,000 (B) Rs. 12,000
(C) Rs. 15,000 (D) None of the above

274. X can do a piece of work in 24 days and Y can do the same work in 36 days. If X works for
three days and got Rs. 3,600, and the remaining work is completed by Y, then how much
rupee Y earned ?

(A) Rs. 22,500 @rs. 25,200
(C) Rs. 28,800 (D) None of the above

275. In a certain code language the word ‘RADIOCHEMIST’ is written as ‘TBFJQDJFOJUU’ then
how would ‘MICROBIOLOGY’ be written in that code language ?

(A) OJDTQCJQQHZ (B) OKDTQCJQMQHZ
(C) OKDTPDJQMQHA @ None of the above

* Directions : (276 — 279) : Read the information carefully and answer the questions given
below:

In a certain code language,

‘speak nicely to all’ is coded as “ka cu ma he”

‘all are like us’ is coded as “sifo he to”

‘teach us lesson nicely’ is coded as “po ma fo re”

‘lesson like all humans’ is coded as “he re gusi”

276. What is the code for ‘are’ in the given language ?

(A) si @:o

(C) fo (D) None of the above

[PSP]
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277.

278.

279.

280.

281.

282.

283.

284.

N\ e

‘humans teach’ H12+ll A3d 4l 89 ?
(A) gufo (B) he fo
(C) gupo (D) BUR U4l s vt 1l

‘speak to me’” M2+l A3d sul 8l ?

(A) maka go (B) lo ma fo

(C) re ma ku (D) GuR U4l 15 vt 1l
‘nicely’ WS-l Asd s € ?

(A) he (B) ma

(C) si (D) BuR U4l i85 vt 1l

(g2 (280 — 281) : =l [Aordi-l Luryds a4 520 24 d-fl 12 2udan usii- Gz >l :

P,Q R,S, T A U3s % ustui s 4l ¢9 -1l A2 2421 W UR 8 8 (lud[fau-i A
1 1612, d-l dd BURIL HINA 2 H612 4 20210 d d 61 20UEL e dar Al GuHL WK 6 HeR
0L ). P L YoH AvAL HINL UR 28 8. S U % HINLUR 8 8 di-ll a2l 2 i 8. U & Wi uR
W B d SNl BUR 6. S 2 {6171 WL UR 2l dl. Q AYOH AvAul HINL UR Wl fl. RA U
A Wl A S0 oy €l Al T2 Q -l dd BUR 3 dd it 1 uR e dl L.

S 211, U )l 6121612 421 HINL UR 519128 69 ?

AT,P (B)R,Q
(C)T,R (D) Bu U4l s vt 1l
QAU WN YA ?

(A) 921 (B) Al

(C) el (D) 158l 4 530 asiu

s Aval 81943275 AL UAH i uinHL sl veanoigdl sami 2ud 8. dy dd, oflon 21 951 visl
24 24 9 Ll 2000 A2 247 2UEHL 2is YL 2isiHl Aecuoied] sl 204 8. dl 21 xecuied] e
oguall 93¢l oAl »is sul sl ?

(A)1 (B) 9

(C) 2 (D) Bu U4l s vt ]

5 QUL M Al 375 Gufl 20841 11 A 1741 9. dl d alni sean [Qendl2 sl ?
(A) 24 (B) 25
(C) 26 (D) GuR U4l 25 ya dl

A2 WS sl [asey sudl-i A9 212 oiciAdl 1) ?
CNELEN (B) 2182+
(C) yriul (D) A3
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277.

278.

279.

280.

281.

282.

283.

284.

What would be the code for “humans teach” ?

(A) gufo (B) he fo

@ouro (D) None of the above
What would be the code for ‘speak to me’ ?

(A) maka go (B) lo ma fo

(C) re ma ku @ None of the above
What would be the code for ‘nicely’ ?

(A) he @na

(C) si (D) None of the above

Directions (280 — 281) : Read the following information carefully and answer the questions
which follow:

P, Q, R, S, T and U live on different floors in the same building having six floors numbered
one to six (the ground floor is numbered 1, the floor immediately above it number 2 and so
on and the topmost floor is numbered 6). P lives on an even numbered floor. There are two
floors between the floors on which S and U live. U lives on a floor above S’s floor. S does not
live on floor number 2. Q does not live on an odd numbered floor. R does not live on any of
the floors below U’s floor. T does not live on a floor immediately above or immediately below
the floor on which Q lives.

Who amongst the following live on the floors exactly between S and U ?

@r (B)R, Q

(COTR (D) None of the above

On which of the following floors does Q live ?

@esth (B) 4th

(C) 2nd (D) Cannot be determined

The positions of the first and the fifth digits of the nhumber 81943275 are interchanged.
Similarly, the positions of the second and the sixth digits are interchanged and so on till the
fourth and the eighth digits. Which of the following will be the third digit from the right end
after the rearrangement ?

@ (B)9

(C) 2 (D) None of the above

M ranked 8th from top and 17th from bottom in a class. How many students are there in the
class ?

@:4 (B) 25
(C) 26 (D) None of the above

Which of the following option does not fit with other three ?
(A) Phobos (B) Titan
(C) Europa @ceres

[PSP] m
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285.

286.

287.

288.

289.

290.

291.

292.

-

A2 ARl Heus seal agl ?

BHR (avui) 10 15 14 8 12
9i5ABUL vl 3 2 6 4 5
(A) 10.8 (B) 11.8
(C) 12 (D) Bu U4 s uat 1l

A2l slellui 2uoul ue sy el ?

EJO, TYD, INS, XCH, ( ?)

(A) MSX (B) NSX

(C) NRW (D) GU U4l 2is uat 1l

Mt [t 2 N e 9. M Al o4 Qi P Al ysAl 8. Pl N 18 sul 2d6in 6 ?

(A) Al (B) YAay
(C) B (D) ABud 53 1 asa

Y Y

A s doARAT, AAsN 1440 Al AN S 214 d-ll uoil 8:5 Al ARUTRHI S1Y dl d deiiudl
uRld 524l 29l ?

(A) 104 AH) (B) 156 23l

(C) 312 Al (D) Guz U4l 25 vt 1l

P 3l Q 52l 150% aY, 5181 8 14 Q ¥ R $ell 2006 AL SIUEH 9. % R Al G2 511 5 [Bauui

-\

53, di P, Q 2 R isa18 wufl s2a [Baumi 511 yel 529 ?

5 5
(A) SE (Bax (B) 8E (Bax

(C) 6% Rax (D) Bu U4l s vt 1l
16641 v @iy 524 a9l ?

(A) 121 (B) 131

(C) 129 (D) 211

-

K aril 121Re0l 28 U 52 69, d Ausd uR 25 [3Hl/sausl 330 a8 a9 211 4 BHl/sansl »su

A

U 53 8. A el d-ll ol Y3l s 5 sels 241 48 [AlR2 AL, dl d-il 1012 14 28R Al idR 524
a9l ?

(A) 15 (334 (B) 22 [3:1

(C) 25 (30 (D) GuR U4l 215 ya -l

45 [AenellAi- 215 adlni, 915A 214 9152l AvalAl YRITR 5:4 8. 9isAXAAL U2 GHR 36
Ay 1A 915324l 13218 GHR 22.5 an 8. adll u3e Gu sedfl ugl ?

(A) 30 ad (B) 32y

(C) 34y (D) Bu U4 s uat Al
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285.

286.

287.

288.

289.

290.

291.

292.

What is the mean of following data ?

Age in years 10 15 14 8 12
No of Students 3 2 6 4 5
(A)10.8 @ns
(C)12 (D) None of the above

What will be next term in following series ?

EJO, TYD, INS, XCH, (?)

(A) MSX (B) NSX

(C) NRW @ None of the above

M’s father is N’s son-in-law. M’s sister Q is the daughter of P. How is P related to N ?
(A) Daughter (B) Daughter-in-law
(C) Son-in-law @ Cannot be determined

If the area of rectangle equals to 1440 sq cm and its sides are in the ratio of 8:5, then what
is the perimeter of the rectangle ?

(A) 104 cm @156 cm
(C) 312 cm (D) None of the above

P is 150% more efficient than Q and Q is 20% less efficient than R. If R completes one-fourth
of the work in 5 days, then in how many days P, Q and R together can complete the work ?

5 5
5— days B) 8— days

. 19 y ® 19 Y

5
(C) GE days (D) None of the above
The square root of 16641 is ?
(A) 121 (B) 131
@120 (D) 21

K travels from his town to city. He goes to city by bicycle at the speed of 25 km/h and comes
back at the speed of 4 km/h. If he takes 5 hours and 48 min to complete his journey, what is
the distance between his town and city ?

(A) 15 km (B) 22 km
(C) 25 km @ None of the above

In a class of 45 students, boys and girls are in the ratio of 5 : 4. The average age of boys is
36 years and that of girls is 22.5 years. What is the average age of the class ?

@30 years (B) 32 years
(C) 34 years (D) None of the above

[PSP] E
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293.

294.

295.

296.

297.

298.

299.

300.

6 Y3ul 2t 5 wlaiuidl 3 uedl-l ARl orrwaadl €. di af@laui simmi 21l 2 w2 i d-ll
deua- sedl ?

(A) 14/37 (B) 14/33
(C) 16/33 (D) GuR U4l 215 yat dl
Y2 52dls 51 25% X A L X 3 W 534 54, A8l 20% Yresl wleawni 24 35%

allun vidleami wal sul. ealdd w2l sul eig, X WA 31 2,700 6124l dl Y WA A3xudHl sea
3w el ?

(A) 3L. 16,000 (B) 3L 15,000

(C) 31. 24,000 (D) GuR U4l 215 yat dl
36, 48, 64 14 72 L O, AL A QAL AYsH

(A) 2 244 576 (B) 4 i 288

(C) 4 4 576 (D) BuR U4l »is v )

Ui AU gZoill srarll 13212 GHR 40 al 8. o Akl AL AeAHl sre-l G 10 avl gy, di Al
AL ACAA B ~HAL 25 [Bau yd 2ot ude GUR Seefl 82l 2 (3l &l 5 240 uHuonmmE §E0ME v
SIS uey GHRAAL S g2 Al »d).)

(A) 36.5 a (B) 37.5aM

(C) 38.5au (D) GuR U4l 25 vt 1l

o) 2o1a-fl Y (BHA-AL AU 31, 62,500 €9. AL 264 2rys5H 20% 244 30% ~il 518l A0 6. o du-ll
AL (Bud uvll i, di du-dl 4o Brdsl dastad Sedl 29 ?

(A) 3L 2,300 (B) 31. 2,700

(C) 31. 2,500 (D) GuR U4l 15 vt Al

AU 3U 2l : 0.7683 + 0.369 + 0.05 + 0.8 =7

(A) 1.9872 (B) 1.9873

(C) 1.9783 (D) GuR U4l 25 yat -l

s2als 9sAAAL A 915302l QA 42 DA adAqPHL 20d 9. A €35 915U 3 ARl HNd, dl €35
t9L53L GUOL 6 U €9, ug A €5 915U 6 UM HAd i €25 9153 3 UM Hnd dl awRll 6
N %32 ugal. dl sl Avan secl 2l ?

(A) 4 (B)6

(C)8 (D) Gu USL 215 uR Al

25 oUHHL S2a1s dlsiHl A GHR 42 ad ©. ua ARl tie HIGH Uy 5 s alsdaddl GuR d-ll
aields GHR 521 20 A 2] 2u A 6. 2udl Y oue, Adl w3 1 gedl ad ©. di alsi-l ga
v sedfl gl ?

(A) 18 (B) 19

(C) 20 (D) Bu U4l s vt 1l
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293.

294.

295.

296.

297.

298.

299.

300.

A committee of 3 members is to be made out of 6 men and 5 women. What is the probability
that the committee has at least two women ?

(A) 14/37 @14/33
(C)16/33 (D) None of the above

Y gave 25% of a certain amount of money to X. From the money X received, he spent
20% on buying books and 35% on buying a watch. After the mentioned expenses, X has
Rs. 2,700 remaining. How much did Y have initially ?

(A) Rs. 16,000 (B) Rs. 15,000

@rs. 24,000 (D) None of the above
H.C.F. and L.C.M. of numbers 36, 48, 64 and 72 respectively are

(A) 2 and 576 (B) 4 and 288

@4 and 576 (D) None of the above

The average age of a family of five members is 40 years now. If the age of the youngest
member is 10 years as of now, what was the average age of the family just a day before the
birth of the youngest member ? (Assume that no other members have been added to or
removed from this family in this period)

(A) 36.5 years @375 years
(C) 38.5 years (D) None of the above

Sum of Cost Prices of two tables is Rs. 62,500. These tables were sold at a profit of 20% and
30% respectively. If their Selling Prices are same, then what is the difference between Cost
Prices of both tables ?

(A) Rs. 2,300 (B) Rs. 2,700

.Rs. 2,500 (D) None of the above
Simplify : 0.7683 + 0.369 + 0.05+ 0.8 =7?

(A) 1.9872 @1.0873

(C) 1.9783 (D) None of the above

42 oranges are distributed among some boys and girls. If each boy gets 3 oranges, then
each girl gets 6. But if each boy gets 6 oranges and each girl gets 3 oranges then 6 more
oranges are needed. What is number of girls ?

@: (B) 6

(C)8 (D) None of the above

In a village the average age of certain people is 42 years. But after the verification it was
found that the age of a person had been considered 20 years less than the actual age.
So the new average, after the correction, increased by 1. The number of people is

(A)18 (B) 19
@20 (D) None of the above
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